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UGC NET PAPER 2 DECEMBER 5, 2021 SHIFT 2 SOCIAL WORK QUESTION PAPER

Topic:- SocialWork_SHAAN_NOVZ1A

1) The first school {(Department) of social work of Independent India was established at

TACIo, M @ g2 TSt ori Rererr (Rwer) & remrasr 5% wer o ?
[Question ID = 1449][Question Description = 52_gSNz_PG_SWK_Q01]

Kashi Yidyapeeth/smsl fezrdis [Option 1D = 5793]

Delhi 5chool of Social work / faeelt sz sl e aaf [Option ID = 5794]

Tata Institute of Social Sciences/erer xieae e e mEder [Option ID = 5795]
Gujarat Vidyapeeth /s femdte [Option 1D = 5796]

N S Y G

Correct Answer ;-
& Washi Vidyapeeth/@gh femile [Option [D = 5793]

2) "Professional Social work, as it has evolved in India, is a graft on the ancient heritage and not an independent
transplant...It has undoubtedly adopted and adapted a lot from other countries but it has a soul and body of its own”. This
statement was made by

"oaAIRIe Jarel SR Al [ s A el g 2, grdis fawrem uz oo 2wl 8 3 9 B Fador] YrdRiuvl ddl &..... 33l forsiez aow ol
A w9 & st Tdtepd den sikliaa fear 8 aftser s3®! e e 9rite siiT iuell G ancar 1 3 7

A word fiowds g Yranfaa fes=n ar o ?

[Question ID = 1450][Question Description = 52_qSNz_PG_SWK_Q02]
1. Sugata Das Gupta/spmn st sgar

[Optian ID = 5797]
2. A.R. Wadia/g s aiz=n

[Option ID = 5798]
3. R.R. Singh/am ame. 3

[Option ID = 5799]
4, P.D. Kulkami/+dt &t oot

[Option ID = 5800]

Correct Answer :-
® Sugata Das Gupta /3T ar spn

[Option ID = 5797]
3) The entire gamut of preventive, therapeutic and rehabilitative services to control deviance in general and crime in
particular in the society, is termed as

Harsl # A WU A Raemt siie fkglg wa A araerer o rilda o @ om oraee, suarrss 3z gorala Al @ Sl SR ol a= @sl
STl & 7

[Question ID = 1451][Question Description = $2_qSNz_PG_SWK_Q03]
1. Social Policy/amniss ity [Option 1D = 5801]

2. Social Defence/Imfors a1 [Option ID = 5802]

3. Social Welfare /amnisre sseamr [Option 1D = 5803]

4. Social Security/smutsre gsn [Option 1D = 5804]

Correct Answer :-
& Social Policy//smmire ifer [Option 1D = 5801]

4) Communication is a where at least two interacting agents share a common set of signs and a common set of
semiotic rules.

FFOT WS &, 16l wa A WA T scdled W AAsY RiEl & wys asn aenca Fdda dsnferr Bl o Ao o ¥

[Question ID = 1452][Question Description = S2_gSNz_PG_SWK_Q04]
1. Gesture/d#g / #ilEEn

[Optien ID = 5805]
2. Social interaction/Imifrs Jwicaitm

[Option ID = 5806]
3. Social cohesion/ amnfnr Hdwa
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[Opticn ID = 5807]
4. Exchange of ideas/Fmae - Rigwm=

[Option ID = 5808)
Correct Answer :-
o Gesture/#m f sBe
[Opticn ID = 5805]

5) Who propounded the 'Evolutionary theory’ of social change?

Fmtsre ufrader & 'fasraar Brgia' o giinnege fesarer fasen 8 7
[Question ID = 1453][Question Description = $2_qSNz_PG_SWK_Q05]

Sorokin/dRteeer [Option 1D = 5809]
Spencer/Fiaz [Option 1D = 3810]
Dahrendorf/Z¥=Zig [Option D = 5811]
Durkheim/gxifs [Option 10 = 53812]

L kad RJ

Correct Answer ;-
& Sarokin/aARfm [Option 1D = 5809]

6) The term 'false consciousness' was used by

'Bren seaAae us Reewd g ggor Koar srm 8 7
[Question ID = 1454][Question Description = 52_q5Nz_PG_SWK_Q06]

1. Nimkoff/ferime [Option D = 5813]

2. Karl Marx/rd smrs [Option ID = 5814]
3. Max Weber/#iga 3=z [Qption |D = 5815]
4. Merton/wda [Option 1D = 5816]
Correct Answer :-

o Nimkoff/fewefee [Option D = 5813]

7) Who is the author of Principles of Social Case Recording published in 19467

1946 # gepidm 'fiBmaa 3ife HArera ©a pilder @1 o wisl & 7

[Question ID = 1455][Question Description = 52_q5Nz_PG_SWK_Q07]
1. Gordon Hamilton/ai<a fireea [Option ID = 5817]

2. Perlman/u=#m [Option ID = 5818]

3. R.R. Shastri/am. sz endt [Option ID = 5819]

4, Biestek/armwrs [Option ID = 5820]

Correct Answer ;-
& Gordon Hamilton /st &fmoer [Option D = 5817]

8) Children learn to add new words through a process called:
o U Yidoen o AR A =) 9156l Dl Siise Hiwad &, Sit el S -
[Question ID = 1456][Question Description = 52_q5Nz_PG_SWK_Q08]

1. Fast mapping/dy - Brp [Option (D = 5821]
2. New mapping/am - frjor [Option 1D = 5822]
3. Extensions/fawms [Option ID = 5823]

4. Inspiration/tor [Option ID = 5824]

Correct Answer :-

# Fast mapping/dig - R [Option 1D = 5821]

9) According to Bartlett, is "the interaction between the coping activity of people and the demand from the
environment”.

qaoie @ AgHAR 'disll & Fsrsh R i ammee © #E @ d aien g"
[Question ID = 1457][Question Description = 52_q5Nz_PG_SWK_Q09]

1. Social functioning/smafarr wrkma [Option 1D = 5825]
2. Social adjustment/aImifses aElsa [Option 1D = 5826]
3. Social endurance/smifers Agmgfcs [Option 1D = 5827]
4. Social cohesion/amfsrs sem [Option ID = 5828]
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Correct Answer :-
# Social functioning/smmfrs Trkewo [Option ID = 5825]

10) A group work model which is based on Erikson’s ego psychology is called as

zhrasiol @ 31EA Foifasiiel Uz Aenid IFPg BRI YIsU o= eI 2 7
[Question ID = 1458][Question Description = $2_gSNz_PG_SWK_Q10]

Remedial model /3wmeress stisar [Option ID = 5829]
Reciprocal model /uzeafss sit== [Option D = 5330]

Developmental model/froraraas sz [Option ID = 5831]

Social goals model / wmnits 389 siser [Option 1D = 5832]

o R

Correct Answer :-
e Remedial model/suemera #isa [Option ID = 5829

11) In case of group work intervention strategy, the social group worker aids the clients in learning how they present
themselves from maturing through .

AfES Rl arasiu iklifa & mael 3 e Agg orfoal ser 2l &t @1E Mo 3 mEma s s a @ ARTA A TG
i afvaay B o7 T §

[Question ID = 1459][Question Description = 52_q5Nz_PG_SWK_Q11]

Gestalt therapy/3ewe &3di [Option |D = 5833]
Transactional analysis/scagesrE R [Option 1D = 5834)]
Behaviour model/=mar sif=w [Qption D = 5835]

Facilitative intervention/gitsrre geadm [Option 1D = 5836]

oW o

Correct Answer :-
& Gestalt therapy/3vere &¥xdt [Option 1D = 5833]

12) Who among the following has coined the term 'group dynamics?
51 srIstfdaA’ ores @i gferarcer fvae: fisar 3 ?

[Question ID = 1460][Question Description = 52_qSNz_PG_SWK_Q12]

Wilhelm Wundt/Re2a gsz [Option ID = 5837]
Emile Durkheim/sirm gxdfar [Option ID = 5838]

William Mc Dougall/ RiRrer #FasirT [Option 10 = 5839]

Kurt Lewin/o aiffer [Option 1D = 5840]

oWk B

Correct Answer :-
& Wilhelm Wundt/fiw&a gge [Option |D = 5837

13) The book Community Work and Social Work is credited to

"SRG o Us HIYIE O Y ol CIED Dicl & 7

[Question ID = 1461][Question Description = 52_gS5Nz_PG_SWK_Q13]
1. Peter Baldock/ties acsi [Option ID = 5841]

2. Gulbenkian Foundation/sjcalitrasa wizvsgm [Option 1D = 5842]

3. Paulo Freire/usdt @52 [Option ID = 5843]

4. Mary Richmond /3 femms [Option ID = 5844]

Correct Answer :-
# Peter Baldock/dez aresiw [Option 1D = 5841]

14) Major approaches to Community Development are:

ARGIRIE e & g U § -

[Question ID = 1462][Question Description = $2_qSNz_PG_SWK_Q14]
External agent, multiple agent and inner resource approach/arsr s, agmsr A7 aidides Jure 3uem [Option 1D = 5845]

External agent, multiple agent and process objective approach /arsr oo, agmizr A7 gir 383 3awmw [Option 1D = 5844]

Specific content, general content and process objective approach/ R femsg, aww v 3z gk w3 Iuem [Option [D = 5847]

PR e

13) Social action is not only a method of social work but an overriding philosophy behind it. This statement is credited to
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"aetsies Rz wnfSes wrd &t dvaa v BifYy & 81 8 aftw sar sttt oolar s1 3 " ws wom et 87
[Question ID = 1463][Question Description = 52_gSNz_PG_SWK_Q15]

1. A.S. Desai/w, war 2= [Option 1D = 5849]

2. P.D. Kulkarni/dt21. sgeeeeff [Option D = 5850]
3. H.Y. Siddiqui/w. ard, Bif2efr [Option ID = 5851]
4. R.R. Singh/ams.ans. Rig [Option 1D = 5852]

Correct Answer :-
o A.S. Desaifu war &amd [Option ID = 5849]

16) "l have a dream". Who among the following said so?

"arE B4 v A" - ag oeeifalfiae 3 3 faswor @ar e ?
[Question ID = 1464][Question Description = $2_qSNz_PG_SWK_Q16]

1. Mahatma Gandhi/aerm =nizht [Option 1D = 5853]

2. Martin Luther King Jr. /7@ mew f= femez [Option 1D = 5854
3. Martin Luther King/#i@m e fe= [Option ID = 5855]

4. Malcolm X/¥emrin v [Option ID = 5856]

Correct Answer ;-
e Mahatma Gandhi/#srn smedt [Option ID = 5853]

17) Content analysis is a method of:
feraerasq faecvavn feafelian 3 21 e &t 8 7

[Question ID = 1465][Question Description = $2_qSNz_PG_SWK_Q17]
1. Survey design/aEsmon afdmeeg [Option [D = 5857]

2. Experimental research/gelenca® agpima [Option 1D = 5858]

3. Data analysis/amest @ Fedam [Option ID = 5859]

4. Data collection/afasst @1 2iwgor [Option 1D = 5860]

Correct Answer :-
® Survey design/ e afdrrey [Option [0 = 5857

18) Who has given the formula for calculating Rank Correlation?

forgmtetian A 21 fipwo @i wEd &t swEr oo @ e g e em ?
[Question ID = 1466][Question Description = 52_gSNz_PG_SWK_Q18]

Spearman/ e [Option ID = 5861]
Pearson/dierta [Option 1D = 5862]
Yules/ == [Option ID = 5863]
Garrett/3i3z [Option 1D = 5864]

e bt B

Correct Answer :-
e Spearman/sdeda [Option ID = 5861]

19) is a specialized average designed to measure the change in a group of related variables over a period of time.

wp [drdiapa sfizrd 2 s Reedl sraffr @ Sirer FAditm i s9pp # af¥ade o1 arm e & e dar Rewar soar 8

[Question ID = 1467][Question Description = $2_qSNz_PG_SWK_Q19]

Mean/zemE [Option ID = 5865]

Median /art=esr [Option 1D = 5866]

Mode /egeme [Option ID = 5867

Index number/zrrsic [Option 1D = 5868]

R

Carrect Answer :-
* Mean/m=pma [Option ID = 5865]

20) An idea about a given state of affairs put forward in exact terms to provide a basis for empirical testing is known as

Rpft &t o 7o @ an & Rk, it sgpifies ufigmn & e anems ygrer o @ R geaa Ren s g, GO &
[Question ID = 1468][Question Description = $2_qSNz_PG_SWK_Q20]
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ldeal type/angef fmms [Option ID = 5869]

Hypothesis/of¥seger [Option 1D = 5870]

Sociological imagination /eI @eust [Option D = 5871]
Empirical Research/simspstas amgiint [Option ID = 5872]

oW

Correct Answer :-
e |deal typefansel Fram [Option 1D = 5B&9]

21) A group consisting of people with formally assigned roles who work together to achieve the organisation’s goals, is called

e AE Wl Ay »u 3 R »ideT arl ollell 3 goll G301 & d91 d Fe1od ol osa & iy g @ 3, ______ el &
[Question ID = 1469][Question Description = $2_qSNz_PG_SWK_Q21]

Organisation/Zeoa [Option ID = 5873]

Line Organisation /=msar s=wma [Option 1D = 5874]

Flat Organisation/wiz Feommm [Option ID = 5875]
Learning Organisation/smemsia e [Option 1D = 5876]

bl B

Correct Answer :-
e Qrganisation/zema [Option 1D = 5873

22) A non-profit company can be registered with the Companies Act, 2013 under

fep2it Siv-vmrmrit Ut @I ouell affrforra, 2013 &t fear arer @ el deilaa fisen = axear & ?

[Question ID = 1470][Question Description = 52_qgSNz_PG_SWK_Q22]
1. Section 4/awr 4 [Option ID = 5877]

2. Section 8/amer 8 [Option 1D = 5878]

3. Section 25/umr 25 [Option D = 5379]

4. Section 112/amr 112 [Optien 1D = 5880]

Correct Answer :-
e Section 4/=mm 4 [Option 1D = 3877]

23) The Section 8 of the Foreign Contribution (Regulation) Amendment Act, 2020 in its sub-section(1) has substituted the
words 'fifty per cent’ by .

Rrgor dererar (Rforaw) Honterar asioger, 2020 &6t 80 ey ot saemar (1) o 'gar gfvera’ o ot Feneiasa Bsan sren 3

[Question ID = 1471][Question Description = S2_gSNz_PG_SWK_Q23]
1. Thirty per cent/stg giiert

[Opticn ID = 5881]
2. Twenty five per cent/uc=ita giten

[Option ID = 5882)
3. Twenty per cent/ giter

[Opticn ID = 5883]
4. Sixty per cent/ms gifew

[Option ID = 5884)
Correct Answer :-
a Thirty per cent/&fta ot
[Option ID = 5881]

24) The concept of Radical social work was given by

Yawa dera g’ Bt amanzon oas gra & seht =h?
[Question ID = 1472][Question Description = 52_qgS5Nz_PG_SWK_Q24]

Roy Bailey and Mike Brake /3 @t wos amser 4w [Option ID = 5885]
Mike Fergusen /s wafzm [Option D = 5886]

H.Y. Siddiqui/ee. ar. Ridt [Option 1D = 5887]

Kim and Zurlo/fra e gt [Option 1D = 5888]

bl D —

Correct Answer :-
® Roy Bailey and Mike Brake /3 951 ovz amrr g [Option D = 5885]

25) The concept of "cultural lag' was given by

‘HiTphine Rofua’ 6 smemeon ©f fivad gra yimisa Reem an ?
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[Question ID = 1473][Question Description = 52_gSNz_PG_SWK_Q25]

1. Ogburn/ dieref [Option ID = 5889]

2. Karl Marx/=mref et [Option 1D = 5890]

3. ). Frazerfa gwz[Option 1D = 5891]

4. Taylor.F.W/ & we. =scg, [Option |D = 5892]
Correct Answer :-

& QOgburn/ e [Option ID = 5889]

26) Goal 5 of Sustainable Development Goals (5DGs) is focused upon

AT pIA o o) e e 5 e uz aa it 87

[Question ID = 1474][Question Description = $2_qSNz_PG_SWK_Q26]

Quality education/spmerr @er [Option 1D = 5893]

Reduced inequality/s==mewn # o+ [Option 1D = 5894]

Gender equality/ZRrr mmmmm [Option ID = 5895]

Clean water and sanitation/=ms w1 v w=rea [Option 1D = 58%6]

P bl B

Correct Answer ;-
¢ Quality education fepoeerr e [Option 1D = 5893]

27) 'Housing first' model is associated with

‘EIHideT B3¢ ASd HwEloer 3 -
[Question ID = 1475][Question Description = $2_qSNz_PG_SWK_Q27]

School children/ st ae=i 3 [Option D = 5897]
Homeless persons/Hes @il & [Option 1D = 5898]
Hospitals/araaEt 21 [Option ID = 5899]

Construction workers/ femfor sEedt 31 [Option ID = 5%00]

a2

Correct Answer :-
s School children/ st a==i 21 [Option |D = 5897]

28) National Food Security Act (NFSA), 2013 has included setting up of effective grievance redressal mechanism for
strengthening of .

e e I sftferE (voruvw.uane), 2013 & T AvIRBm 2 Yl I9RprRa Fen= & Furaen @t Afdaten Rear &

[Question ID = 1476][Question Description = $2_qSNz_PG_SWK_Q28]
1. Total public-private system/ =yl Ari=ks- Bt guoet

[Option ID = 5901]
2. Public distribution system agency/Sd=ioms kozo quied sz

[Option ID = 5902]
3. Targeted public distribution system/afis ari=Err R gnst

[Option ID = 5903]
4. People system of network /=il & deass £ goned

[Option ID = 5%04]

Correct Answer :-

# Total public-private system/maypi ari=tonn- Bt gonett
[Option ID = 5901]

29) When did the Ministry of Health and Family Welfare launch the 'National Health Mission'?
TAIFLA U Ulsns ST FIeR] S IR Fared e foos ad & smem fopem s o?

[Question ID = 1477][Question Description = $2_qSNz_PG_SWK_Q29]
1. 2005

[Option ID = 5905]
2. 2007

[Option ID = 5%06]
3. 2013

[Option ID = 5907]
4. 2015

[Option ID = 5908]
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Correct Answer ;-
e 2005
[Option ID = 5905]

30) UNHCR has its headquarters in x
o1 G AR, W FEA qE

[Question ID = 1478][Question Description = 52_qSNz_PG_SWK_Q30]
1. Hague/2a

[Opticn ID = 5909]
2. Geneva/dmmr

[Option ID = 5%10]
3. New york/orice

[Opticn ID = 5911]
4. Turin/zgiat

[Option ID = 5%912]

Correct Answer :-
& Hague/Z

[Option ID = 5909]
31) What was the original name of the Ministry of Social Justice and Empowerment at the centre when it was established in
19607
Do FATSKD o=IRT i AREETRAT FeIcr 1 JoT e 33 e a1 o1 5| 1960 3 serdbt e g3 ot ?

[Question ID = 1479][Question Description = 52_q5Nz_PG_SWK_Q31]
Ministry of Social Welfare//awnfie we=mor siger [Option 1D = 5913]

Ministry of Social Security/mmfae Fzen s [Option 1D = 5914

Ministry of Women and Child Welfare/afaer sz e aoemr #igrer [Option 1D = 5915]
Ministry of Human Resources/smr Jmnesr Agier [Option 1D = 5916]

o kad RJ

Correct Answer ;-
® Ministry of Social Welfare/aminr wr=mvr sgerr [Option 1D = 5%13]

32) Economic, Social & Cultural rights were the focus of
sufie, AR iz ARGpies aftcer WG H A ?

[Question ID = 1480][Question Description = 52_q5Nz_PG_SWK_Q32]
1. 11" generation of Human Rights/gxdt didl @ merfmsi

[Option ID = 5%17]
2. I*t generation of Human Rights/vach it & memitms3t

[Option ID = 5918]
3. V" generation of Human Rights/dielt didt @ AromnfeoRi

[Option ID = 5919]
4. 1Ird generation of Human Rights/dtd didl @ wrorfimemst

[Option ID = 5920]

Correct Answer :-

e (" generation of Human Rights/gzst s @5 Amrofrest
[Option ID = 5917]

33) Which among the following are the specific Articles of the Indian Constitution providing for the promotion of people's
welfare within the overall framework of Social Justice?

AR W Fkeno 9 oreiliiiRan 3 31 Roa seres<l 3 Aenlns =ik @ 7199 ol @ TR 161 oo ©1 S6Idl gol @ gIiaens & 7
[Question ID = 1481][Question Description = §2_qgS5Nz_PG_SWK_Q33]

Article 1% and 24/ amrds 19 iz 24 [Option ID = 5921]
Article 38 and 46/ amrds 38 iz 46 [Option ID = 5922]
Article 40 and 45/ amrds 40 iz 45 [Option ID = 5923]
Article 3% and 332/ ageada 39 afiz 332 [Option ID = 5924]

bt B
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Correct Answer :-
e Article 19 and 24/ = 19 diz 24 [Option 1D = 5921]

34) Which is the first country in the world to make Corporate Social Responsibility as mandatory?

DIl AENGRD TiRid o siforart goirey aren fma @1 gem 391 Dot 71 & 7

[Question ID = 1482][Question Description = $2_qSNz_PG_SWK_Q34]
1. Brazil/qwier [Option ID = 5925]

2. Japan/engm [Option ID = 5926]

3. Sweden/¥=a [Option ID = 5927]

35) Social work involvement in the industrial sector can be at both levels.

e &y § Fan= orf &1 e[| Tt 3 2 wrepar 2

[Question ID = 1483][Question Description = $2_qSNz_PG_SWK_Q35]
1. Formal and informal/ Sfioenfyss S sminenfae

[Option ID = 5929]
2. Macro and micro/gsm Ji =g

[Option ID = 5930]
3. Intramural and extramural/ sicafifes iz gefeeme

[Option ID = 5931]
4. ¥Yoluntary and inveluntary/Fites ik s@ikew

[Option ID = 5932]

Carrect Answer :-
# Formal and informal/ sfoenFe Mz sEiuns

[Option ID = 5929]

36) 150 9000 originated in:
aréuaant 9000 &t seuly el g ?

[Question ID = 1484][Question Description = $2_qSNz_PG_SWK_Q36]
1. U.Kfgm. [Option ID = 5933]

2. U.S. Afgwan [Option ID = 5934]

3. India/#s [Option 1D = 5935]

4. Germany/spit [Option (D = 5936]

Correct Answer :-
e |.K/gm [Option ID = 5933]

37) Which among the following labour legislations have a provision for the appointment of Labour Welfare Officers?
A, Factories Act

B. Plantation Labour Act

C. Mines Act

Choose the correct answer from the options given below:

forraifertianT 3 2t @io1 3 o farenall & o ool arftresIiyT &t forgfir &1 grfaener & 7
A, wrrEmen AfticrIN

B. amrmer g ardrforrar

C. ma afiform

oiiey fu s1e Rrpeal A A 78l 307 w1 9w Hifowe @

[Question ID = 1485][Question Description = 52_qSNz_PG_SWK_Q37]
1. Aand Bonly/dma Adn B

[Opticn ID = 5937]
2. Band C only/@aa B ditz C

[Option ID = 5938]
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[ 3. Aand C only/@ae A diz C

[Option ID = 5939]
4. A, Band C/A, Bai C

[Option ID = 5940]
Carrect Answer :-
® Aand C only/@ag A iz C
[Option ID = 5939]

38) Which among the following was the first major international conference on environmental issues organised by the UN in
19727

Hes W g 1972 3 smfsra gafazn weaforr el Uz ueeh #30 HFACH Graffaa & & wis oo o1?

[Question ID = 1486][Question Description = $2_qSNz_PG_SWK_Q38]
1. Rio Conference/ b e

[Option ID = 5941]
2. Stockholm Conference/rrdla Feacml

[Option ID = 5942]
3. New York Summit/e=ree forms ami

[Option ID = 5943]
4, Los Angeles Conference/ans weaftra  wFioet

[Option ID = 5944]
Carrect Answer :-
& Rio Conference/fr 3w
[Option ID = 5941]

39) Which among the following is NOT associated with National Services Scheme (N55)?

foramtean 3 o=m i 3rar Nstem 31 FHdfer odt 2 7
[Question ID = 1487][Question Description = 52_qgS5Nz_PG_SWK_Q39]

Mational Youth Awards/seda gar geemr [Option ID = 5945]
Mational Youth Festival/er=ier wrm memis [Option 1D = 5946]
Republic Day Parade Camp/emrr) B v Bz [Option (D = 5947]
Mational Intergration Camp/srtr webimenr faidz [Option 1D = 5948]

R

Correct Answer :-
a National Youth Awards/aedta gar gzem [Option 1D = 5945]

40) Find the odd one:
gori A Riaw ol oife

[Question ID = 1488][Question Description = 52_gSNz_PG_SWK_Q40]

1. Strike/ssam

[Option ID = 5949]
2. Lockout/ammact

[Option ID = 5950]
3. Lay off /wmems

[Option 1D = 5951]
4. Retrenchment /el

[Option ID = 5952]

Correct Answer :-
e Strike/zstmT

[Option ID = 5949]

41) Which of the following are stages of acceptance?
A, Denial
B, Anger

C. Bargaining
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Choose the correct answer from the options given below:

forsaniftee & A wiar dimpier Bt smwend § 7

A. adipfer

B. mer

C. #a-dia

ofla B =10 Repedi A A w1d s @l ¢

[Question ID = 1489][Question Description = 52_q5Nz_PG_SWK_Q41]

1. A, B and C/anrT A, B iz C [Option 1D = 5953]
2. A and B only/=wm A 3z B [Option [0 = 5954]
3. Band C only/@aer B 4z C [Option ID = 5955]

42) Which of the following are the measures of Central Tendency?
A, Mean

B. Median

C. Mode

Choose the correct answer from the options given below:

Rrafeifiaa A wie it Dedier ggien w1 arnrs & ?

A, srem

B, sfdees

C. agerm

oifr o are femseul 3 21 Adl Inz 9o ¢

[Question ID = 1490][Question Description = §2_qgSNz_PG_SWK_Q42]

1. Aand B only/@am A #i B [Optien ID = 5957]
2. Band C only/wm B &z C [Option 1D = 5958]
3. Aand C only/asmT A diz C [Option ID = 5959]
4, A, B and C/wmr A, B &z C [Option ID = 5960]

Correct Answer :-
& A and B only/esae A 33 B [Option 1D = 5957]

43) Which of the following writings are credited to Frantz Fanon?
A. Wretched of the Earth

B. Black Skin, White Masks

C. Concerning Violence

D. Black Men

Choose the correct answer from the options given below:

Rrafeifiaa A A it M Y] @ ERp HisT Bolol & !
A. s 3w & o

B. wcias Rapet, wolse AR®H

C. woatiler amda

D. st fiat

sifl fon oo Rrpedl 3 2 #71E! o2 9ol

[Question ID = 1491][Question Description = 52_q5Nz_PG_SWK_Q43]
1. Aand B only/@am AR B

[Option ID = 5%61]
2. A,Band Conly/Dam A, Bz L
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[Option ID = 5962]
3. B,Cand Donly/S&am B, C 3z D

[Option ID = 5963]
4, Aand Donly/saa Adz D

[Option ID = 5964]

Carrect Answer :-
® AandBonly/@aa AR B

[Option ID = 5961]
44) Two philosophical concepts that underpin almost all social work ethics, are
A. Deontology
B. Teleology
C. Principlism

D. Consequentialism

Choose the correct answer from the options given below:

21 groifors armemzonmd Al cenieT el AT SRl saR PRl @ ez

A, orcaenzg

B. 2gare

C. Brgleaarc

D. ufyvmaare

oifer o are femseal 3 3 wdl 3z 9o ¢

[Question ID = 1492][Question Description = §2_qgSNz_PG_SWK_Q44]

A and B only/@=m A & B [Option ID = 5965]
A and C only/@ae A 3z C [Option ID = 5966]
B and C only/@ae B iz C [Option 1D = 5967]

B R L

Correct Answer :-
e Aand B only/dsm A i B [Option 1D = 5965]

45) Which among the following is/are the foundation of 'Attitudes’?
A. Emotions

B. Dreams

C. Behaviour

D. Cognitions

Choose the correct answer from the options given below:

fomafoian 3  Star afirgh & smenz ¥ 7
A, sireond

B, 7@

C. =asr

D. zigmor

i 2w a1 faascal 3f 2t 718t 3z gol ©

[Question ID = 1493][Question Description = $2_qSNz_PG_SWK_Q45]

1. Aand C enly/@am A e C [Option 1D = 5969]
2. Aand B only/@am A iz B [Option ID = 5970]
3. A, B and C only/@am A, B sfiz C [Option D = 5971]
4, A, Cand D only/«f= A, C &z D [Option ID = 5972]

Correct Answer :-
e Aand C only/wae A iz C [Option 1D = 5969]

46) Which professional organisation of social work is/are currently not functional?

A. Indian Society of Professional Social Workers

prepp

Your Personal Exams Guide

C and D only/==rr C gz D [Option D = 5968]
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B. India Association of Trained Social Workers
€. Association of Schools of Social work in India
D. National Association of Professional Social Workers in India

Choose the correct answer from the options given below:

acieicl 3 AATST DRI D Wiol A FARRD Heod wRIF ot § 7

A. s AAREE 3w Yo AleRT T

B. siZwer vall¥iveret siiw ¢ Hlgra amH

C. valf¥vors siiw e 3iip Aler o o sfean

D. sigrorer oHIRmeR ST YlBorere Hlvra aas sol sis

ofl Bn =10 Repedi A A wf s gl ¢

[Question ID = 1494][Question Description = $2_qSNz_PG_SWK_Q46]

1. Aonly/asrT A [Option 1D = 5%73)
2. Bonlyfawm B [Option ID = 5974)
3. Aand B only/dsmm A iz B [Option 1D = 5975]
4. Band C only/&aer B 4z C [Option ID = 5976]

Carrect Answer :-
® A only/d@acr A [Option ID = 5973]

47) According to G.5. Ghurye, which are the features of the caste system the society is characterized by:
A. Segmental division of society

B. Civil and religious abilities

C. Hierarchy and restrictions on feeding and social intercourse

D. Choice of occupation and marriage

Choose the correct answer from the options given below:

sihen. g2 @ epar "ot & wlar A Roramd snfr-soaren g forsla e § 7
A. wAS BT FERY Rrsior

B. simiiyes wd enfdles srda

C. st sncier-ygiol Ud Tilel Oiel O3 Uciofpy d Ao giermeer

D. kaE vd saaHRI Wl a3v1

i) f8u a1e Rrpoal 3 A w16l Sne @l w=s ifens :

[Question ID = 1495][Question Description = $2_qSNz_PG_SWK_Q47]

1. A, B, Cand D/A, B, C stz D [Option 1D = 5977]

2. Aand C only/d=a A 3fiz C [Option ID = 5978]

3. Aand B only/@ae A 3 B [Option ID = 5979]

4. A, Cand D only/@ae A, C afiz D [Option ID = 5980]

Carrect Answer :-
o A B, CandD/A, B, C &z D [Option 1D = 5977]

48) 'Probation' means:

A. More strict restriction of the alternatives to incarceration

B. Least restrictive of the alternatives to incarceration

C. A sentence that is served in the community, under supervision

Choose the correct answer from the options given below:

af¥diam @ aef 3 :

A. gl @ Resea # oz it wrwa gitraser
B. gl @5 Rresea # oo A oa gftase

C. ver wsm S waerr # Briterer o5 siceta sleh st
il R 1o Rraseal 3 3 78 swe odi @
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[Question ID = 1496][Question Description = 52_gSNz_PG_SWK_Q48]

4 and B only/&am A iz B [Option 1D = 5381]
B and C only/&aer B diz C [Option ID = 5984]
A and C only/dae A &tz C [Option ID = 5983]
A, B and C/@me A, B stz C [Option 1D = 5984]

oW =

Correct Answer :-
& A and B only/@aa A sfiz B [Option 1D = 5981]

49) Groups that can be formed by social group worker
A. Class group

B. Remedial group

C. Growth group

D. Task group

E. Caste group

Choose the correct answer from the options given below:

AIPE Al HAFD HIPg BRIDAl FRT TR o1 A 8
A, ziasl A

B. suardt g

C. wgty wae

D. wrt #ygs

E. snfer a9

o Re =10 Rroseai A A w8 s gdl ¢

[Question ID = 1497][Question Description = 52_gSNz_PG_SWK_Q49]

A, B, € and D only/daar A, B, C iz D [Option ID = 5985]
B, C, D and E only/@uer B, C, D 4z E [Option ID = 5986]

B, D and E only/d B, D afiz E [Option ID = 5987]

B, C and D only/dwe B, C stz D [Option ID = 5988]

oW 2 =

Correct Answer :-
o A, B, CandDonly/dwma A, B, C iz D [Option 1D = 5985]

50) Tuckman has mentioned five stages of group development. Which are the stages given by him?
A. Forming

B. Storming

C. Developing

D. Performing

E. Adjourning

Choose the correct answer from the options given below:

chdol ol A DI & Ul a0 ae & Ioids I ®iel 3 a2vT 63 o1 &7
A, wififar

B. cifdfer

C. 3defdist

D. uzwififer

E. wsdifolar

i 2w a1 faescal 3f 2t 78t 3z 9ol ©

[Question ID = 1498][Question Description = $2_qSNz_PG_SWK_Q50]
1. A, C,Dand Eonly/armr A, C, Dz E

[Option ID = 5989]
2. B,C,DandEonly/daa B, C, D i E

[Option ID = 5%30]
3. A,B, D, andE only/aaa A, B, D3fis E

[Option ID = 5991]
4, A, B, Cand Donly/@xa A, B, Ca= D
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[Option ID = 5992]
Carrect Answer :-
A C DandEonly/gma A, C, DdzE

[Option ID = 5989]

51) Community Organization method aims at
A. Engaging people in bringing change

B. Organising people to lead the change

C. Implementing welfare schemes

D. Mobilising masses for the structural changes

Choose the correct answer from the options given below:

HAHCRI THerool fafer o1 s2ea & -

A, serma oa 3 Aiell @1 RIS wwen

B. acaa @ oied @ fore aell & Herfaa wwen

C. ST ArsTenail o wrIffoad oo

D. Siel-A3E P! Giaer ulyada @ i1 sidass oo

i 2w a1 faescal 3 2t 78 3z gol ©

[Question ID = 1499][Question Description = $2_qSNz_PG_SWK_Q51]

1. A, B and C only/dxze A, B 3z C [Option 1D = 5993]
2. B, Cand D only/@ww B, C sfiz D [Option D = 5994]

3. Aand B only/@awm A & B [Option ID = 5995]

4. Band D only/oe B 3z D [Option 1D = 5996]

Correct Answer ;-
o A, BandC only/<mm A, B 3z C [Option D = 5993]

52) Which of the following elements is/are common amoeng community organisations and community development?
A. Democratic procedures

B. Voluntary cooperation

C. Self help

D. Development of leadership

Choose the correct answer from the options given below:

Foldl A Wil A Aca ARSIRKE FHeToal Az AeRie firer & e s & ?

A. omigm orIR
B, FlRaw wedlsl

C. Tamcad (TR AEREI)

D, sigra @1 RioR

oifer o are famsedl 3 3 =dl vz 9o ¢

[Question ID = 1500][Question Description = §2_gSNz_PG_SWK_Q52]
1. Aand Bonly/@ao Als B

[Option ID = 5997]
2. Band C only/eam B4z C

[Opticn ID = 5998]
3. Cand D only/@vaa C sfiz D

[Option ID = 5999]
4, A,B,Cand D/A, B, Cdlz D

[Option ID = 6000]
Correct Answer :-
o AandBonly/@aa AR B

[Option ID = 5%97]

53) Purposive Sampling is also known as

A. Judgemental Sampling
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B. Selective Sampling
C. Subjective Sampling

Choose the correct answer from the options given below:

AL 9w gitraea @1 Koo are oirel A 91 e soem 2 7

A. rviEmeaw gifaem

B. oemiraw gitrma

C. caftolores gitraas

oifer fow are famseal 3 31 wdl 3nz 9 ¢

[Question ID = 1501][Question Description = 52_gS5Nz_PG_SWK_Q53]

1. Aand B only/wsm A i B [Option 1D = 6001]
2. Band C only/am B &z C [Option 1D = 6002]
3. Aand C only/mT A diz C [Option 1D = 6003)
4. A, Band C only/A, B &z C [Option ID = 6004]
Correct Answer ;-

o A and B only/@ae A 3 B [Option 1D = 6001]

54) Which of the following statements is true in case of the merits of Mean deviation?

A. Mean deviation is less affected by the values of extreme items than Standard deviation.
B. Mean deviation is not capable of further algebraic treatment.

C. It is rarely used in sociological studies.

D. In this method algebraic signs are ighored while taking the deviation of the items.

Choose the correct answer from the options given below:

arer Rraeror B Rigramsti & e # Beaftlaa 3§ 3 dla 3 s ah §7

A. s Rrererer sneis Rracrer 6t goon 3 g wdt & e Fra wa ganfaa srar 3
B. area1 fraaa w1 iz amst dseifwiiE suaw w1t R so oo 2

C. AAMIR 31E2-0oll A 331 dgd WA JuAIel [Rpen sien 3

D. s faf?r 3 wiel @ Rerem @1 A A9 dsEivrdit Riesl uz eamer o8l Rar s
ol fow o1e fRrpedl d 3 A8t s @ @

[Question ID = 1502][Question Description = 52_qSNz_PG_SWK_Q54]

1. Aand D only/@T A iz O [Option ID = 6005]
2. Band C only/@ae B 4z C [Option 1D = 6006]
3. Bonly/daa B [Option ID = 6007]
4. A only/@aer A [Option ID = 6008]

Carrect Answer :-
# A and D only/@aa A &t O [Option ID = 6005]

53) To achieve self-development, the 'Master Manager’ must have
A, Power driven attitude

B. Problem driven attitude

C. Vision driven attitude

Choose the correct answer from the options given below:

sren-Frorm @ Rie "are fioie? 3 slon a3y -

A. offvr giva =fecmion

B. warn giya eftewsior

C. geefie fya eRewior

oY R s1o Rrased! 3 3 =8 3a 9ol ¢

[Question ID = 1503][Question Description = 52_qSNz_PG_SWK_Q55]
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A only/deer A [Option 1D = 6009]
B only/dhasg B [Option ID = 6010]
C anly/awe C [Option 1D = 6011]
B and C only /@ B stz C [Option 1D = 6012]

oW

Correct Answer :-
o A only/@aa A [Option 1D = 6009]

56) In the case of Kesavanand Bharati vs Union of India, the Supreme court ruled that:

A. The list given in Schedule X of the constitution of India cannot be changed.

B. The Articles related to Fundamental Rights cannot be changed.

C.The basic structure of the constitution is inviolable and could not be amended by the Parliament.

Choose the correct answer from the options given below:

DOdIoic MEdl FelH HWITd O & PR 3 Joakdd AR of ag foofa Rear e s

A, il Ffaerror @ sioyEll-X 3 &1 31 Siermrit @ Sl aoet S Al 8

B. 3T atitrprt 31 WARKT aloleadi @ o8l acon ST JAdar 8

C. Fifena o1 giordl aian sggcaetia 2 iz sadt Tz g donfin aidf fosean @i zrasan 2
i 2w a1 faescal 3f 2t 78t 3z 9ol ©

[Question ID = 1504][Question Description = $2_qSNz_PG_SWK_Q56]

1. Aand B only/®am A sz B [Option ID = 6013]
2. Aand C only/@aa A dite C [Option ID = 6014]

3. Band C only/@ae B &tz C [Option ID = 6015]

4. A, Bamd C/A, B sfiz C [Option 1D = 6016]

Correct Answer :-
o A and B only/@ae A & B [Option ID = 6013]

57) Name the words which were incorporated in 42" amendment of Indian Constitution.
A. Democratic

B. Secular

C. Sovereign

D. Republic

E. Socialist

Choose the correct answer from the options given below:

sirxedter vifrenar v 428 wontersr 3 onfirer R sre orsct aft garse

A. aoafeqgs

B. eraf-foradisr

C. waqy

D. srorerse

E. wasrardt

il R ore Rraseal 3 31 78t oae gdi @

[Question ID = 1505][Question Description = 52_gSNz_PG_SWK_Q57]

1. A and B only/@gm A &fiz B [Option 1D = 6017]
2. Aand C only/@aer A diz C [Option ID = 6018]
3. Band E only/sam B &z E [Option ID = 6019]
4. Cand E only/<wa C Jfiz E [Option ID = 6020]
Correct Answer :-

o A and B only/@aa A sfiz B [Optien 1D = 6017]

58) Which of the following are included in the National Food Security Act (NFSA), 2013 for effective implementation of the
Act?

A. Distribution of food to all
B. Identification of eligible households

C. Issuing ration cards to the eligible household



www.prepp.in .repp

Your Personal Exams Guide

D. Distribution of foodgrain entitlements to eligible households through Fair Price Shops (FPS)
E. Issuance of licenses to Fair Price Shop dealers and their monitoring

Choose the correct answer from the options given below:

It e a0 siféferaa (wol e wa v) 2013 & gurdl wrileazer © e aww aiftirae #d BreiciRaa # 31 7oA enfda Rear swen 8 ?
A. w9 @ e =mEr Riaeur

B. uny ufrari & usam ween

C. ury ufyar! ®f 3w e S e

D. 3Rk #ica axt s1emE &l gomEl (vw di o) @ w3 urg, uiand ot e @1 Reeer e

E. 3Rm gea el vt B gkl @ 3ol ©f arsdA SRl gl 3iie Jordbl foertell weon

oifl fon oo Rrpedl 3 2 #71E s 9ol

[Question ID = 1506][Question Description = 52_gS5Nz_PG_SWK_Q58]

. A, B, Cand D only/=wm A, B, C stz D [Option ID = 6021]
B, C, D and E only/arT B, C, D iz E [Option ID = 6022)
B, C and D only/zrm B, C 3fiz D [Option ID = 6023]

. C, Dand Eonly/aaer C, D iz E [Option ID = 6024]

b B

Carrect Answer :-
» A B, Cand D only/dsmer A, B, C 4z D [Option ID = 6021]

59) Which of the following sets of elements allow individuals to work together in a group to effectively achieve a commeon
purpose?

A. Shared resources
B. Shared experiences
C. Shared values

D. Shared network

Choose the correct answer from the options given below:

Foial 31 Wil AT vl Ol WE SARDI D1 HWHAle 3593 O guares Yy & e v T & su 3 el ©rf ool &t st 2ar §?
A, wefera Faera

B. sewnfara sopa

C. wewfara seaan

D. swsnfara s

iy o are fomsedl 3 31 =dl vz 9 ¢

[Question ID = 1507][Question Description = $2_qSNz_PG_SWK_Q5%]

1. Aand B only/@am A#r B [Optien ID = 6025]
2. Band C only/wa= B d= C [Option 1D = 6026]

3. Conly/a@wwa C [Option D = 6027]

4, Band D only /e B stz D [Option 1D = 6028]

Correct Answer :-
o Aand B only/dsmm A iz B [Option 1D = 6025]

60) Who among the following has introduced the concept of HRD in India?
A. T. V. Rao

B. Udai Pareek

C. R. R. Singh

Choose the correct answer from the options given below:

foratiioa # A Rosa siea & wem Fee o &bt siooaen A ublkm @er=n ?
A. &t =
B. 3oa ariflm

C. zae. Ris
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aitar v 1o fraseal 3 3 =8 sae gdl
[Question ID = 1508][Question Description = 52_qSNz_PG_SWK_Q60]

1. A and B only/d@am A 33 B [Option ID = 6029]
2. Aand C only/dac A iz C [Option ID = 6030]
3. Band C only/@ae B 4z C [Option 1D = 6031]
4. A, Band C/A, B sliz C [Option ID = 6032]

Correct Answer :-
o Aand B only/@aa A sz B [Option 1D = 6029]

61) What is true about newborn breastfeeding in India?

A. Breastfeeding is delayed

B. First milk is considered as impure and discarded

C. There is an inverse relationship between breastfeeding within the first 24 hours and neonatal mortality

Choose the correct answer from the options given below:

NI H orasrd 319] ST FHToldlal @ ard 3 Slol 31 ool HE 3 ?

A, Toromare! ey 3 31 &I et 3

B. 3T @1 Ui g a19g Hiel SIIdT B ailz IHPI FHiollol Sisl IR SIKII &
C. usd 24 wie & offaz Faomare iz aasnT I & da ogeaw Fder 2 3
i 2w a1 faescal 3f 2t 78t 3z 9ol ©

[Question ID = 1509][Question Description = 52_gSNz_PG_SWK_Q61]

1. Aand B only/®am A sz B [Option ID = 6033]
2. Band C only/@aca B &tz C [Option 1D = 6034]
3. Aand C only/@aa A dite C [Option ID = 6035]
4, A, Band C/A, B 4fiz C [Option ID = 6036]

Correct Answer :-
e A and B only/@ae A & B [Option ID = 6033]

62) A person whose family owns or possesses any one of the following assets shall be excluded from being identified as
Economically Weaker, irrespective of the family income if s/he owns or possesses:

A. 5 acre agricultural land and above

B. Residential flat of 1000 sq feet and above

C. Residential plot of 100 sq yards and above in notified municipalities

D. Residential plot of 200 sq yards and above in areas other than the notified municipalities

Choose the correct answer from the options given below:

oo wafes Bradt afvalf¥s s a® oo 1 3, ser sud ayar & an Brafifaa # 3 o st d@af & 6t sebt osars ' soffks wa 3 oasis
gef’ 3 arez @ &1 awshl, Al

A, 5 vws a1 3a3l suIEl wdl dsa s 8@t

B. 1000 sqarr Be A1 333 FAGT &bl © MM o 3

C. altrfy seraiRieni # 100 mare a1 3321 sae & amarie-ygiiemavs g

D. sftrgftm serruiérmril @ akifne ol 3z 200 roar: @2 &t mariia yfieaes &
iy o are fomsedl 3 31 =dl vz 9 ¢

[Question ID = 1510][Question Description = 52_gS5Nz_PG_SWK_Q62]
1. Aand B only/@am AR B

[Option ID = 6037]
2. Aand C only/am A diz C

[Opticn ID = 6038]
3 A Cand D onlyfa@aa A, Cafz D

[Option ID = 603%]
4, A,B,Cand D/A, B, Cdiz D

[Option ID = 6040]
Correct Answer :-
o AandBonly/@aa AR B
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[Option ID = 6037]

63) The Criminal Justice System in India rests on
A. Police
B. Courts
C. Prisons

Choose the correct answer from the options given below:

HIFT # SR guich Rea oz Gle § 7

A. gkt

B. sarare

C. orER

ol 8u a1e Rrpoal 3 A w16t S ool ¢

[Question ID = 1511][Question Description = 52_gSNz_PG_SWK_Q63]

1. Aand B only/dsm A & B [Option 1D = 6041]
2. Band C only/am B &z C [Option 1D = 6042]
3. Aand C only/amT A diz C [Option ID = 6043)
4. A, Band C/A, B sfiz C [Option 1D = 6044)]
Correct Answer :-
# A and B only/@am A 3 B [Option ID = 6041]

64) Among the following professional Social Work Educators, who has not been a Member of Parliament?
A. Prof. K.¥. Ramanna

B. Prof. Raja Ram Shastri

C. Prof. Manoj K Jha

D. Prof. K. D. Gangrade

E. Dr Anupam Hazra

Choose the correct answer from the options given below:

frraftl¥na =raamRrr aars wri et # 3 oo dac oy Taer i w8 ?
A. 1 @t e

B. g srem 7t en=f}

C. 4} #clls . 50

D. gt .3l siers

E. S sroqua a5

ofl B =10 Repedi A A wf s @l ¢

[Question ID = 1512][Question Description = $2_qSNz_PG_SWK_Q64]

1. Band C only/w@wr B die C [Option 1D = 6045]
2. Band E only/asmm B Az E [Option 1D = 6046]
3. Aand D only/@ae A 4z D [Option ID = 6047]
4. Band D only/&aer B diz D [Option ID = 6048]

Carrect Answer :-
¢ Band C only/@ae B 4z C [Option ID = 6045]

65) Who initiated and established the programme of CHILDLINE in India?
A. Rashmi Singh

B. Jeero Billomoria

C. Joseph Helen

D. Sharad Joshi

Choose the correct answer from the options given below:
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e H fsaer sises ara (CHILDLINE) asrefaga @9 s wd Femaenr &t 7

A. s Bis

B. szl feeiaifzn

C. s¥1w 30

D. org sielt

oA R o1 Rieul 3 3t w18t o 9di ¢

[Question ID = 1513][Question Description = 52_q5Nz_PG_SWK_Q65]
1. Aonly/@daT A

[Option ID = 604%]
2. Bonly/@ae B

[Option ID = 6050]
3. Conly/awmm C

[Option ID = 6051]
4, Donly/aam D

[Option ID = 6052]
Correct Answer ;-
o Aonly/dre A
[Option ID = 6049]

66) Match List | with List Il

List | List Il
{Journals) (Year of Start)
A. Indian Journal of Social Work 1. 1984

B. Journal of Social Work Education, Research and Action|ll, 1962

C. Contemporary Social Work |Ill. 2015

D. Perspectives in Social Work |IV. 1940

Choose the correct answer from the options given below:

I -1 B it -1l A Ao B

et -| Syt -1
(a5t (g1 w1 ax)
A ZfErer siefa sifws Ferer aas |I. 1984

B. stofer aliw 2lorar aas yderm R us daerm I, 1962

C. wicesald Ao oo . 2015

D. witifircsn so1 ser ad Iv. 1940

ofta v =1 frwseal & 7 A saz ofew :

[Question ID = 1514][Question Description = $2_qSNz_PG_SWK_Q66]
1. A-1,B-Il,C-l,D-IV

[Option ID = 6053]
2. A-ll,B-l,C-IV,D-l

[Option ID = 6054]
3. A-IV,B-NI,C-l,D-l

[Option ID = 6055]
4, A-IV,B-ll,C-1,D-N

[Option ID = 6056]
Correct Answer -
o« A-l,B-II,C-Il,D-IV
[Option ID = 6053]

67) Match List | with List Il

List | List I
A. Social Work: An Empowering Profession

I. Lena Dominelli
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B. Social Work: Theory and Practice for a changing professionl. Brij Mohan

C. The Future of Social Work lll. Fred Powell

D. The Politics of Social Work |IV. B. DuBois & K.K.Miley
Choose the correct answer from the options given below:

et -1 Bt et -1l 3 g Hif

llﬁﬂ-l l‘I_i'ﬂ'“
A. itorer 7 ; ot wrarafior Qrborer |, clion Steherch
B. sitera oo : RRId vs Rrew wiz dfiker
Il. g1 WEat
QI oreT g1
C. & WER 3P A9 T . & suria
D. g differs 306 Hl9RT o t;-ﬂﬂw ud . B.

iy v a1e faseal i 31 78t 3w gfew

[Question ID = 1515][Question Description = $2_qSNz_PG_SWK_Q67]
F.bol ;B Il € HE; DIV

[Option ID = 6057]
2. A-lIl,B-l,C-IV,D-l

[Option ID = 6058]
3. A-ll,B-IY,C-1,D-ll

[Option ID = 6059]
4. A-IV,B-1,C-Il,D-l

[Option ID = 6060]
Carrect Answer :-
o A-l,B-II,C-ll,D-I¥

[Option ID = 6057]

68) Match List | with List Il

List | List Il

A, R.K. Merton I. Theory of migration

B. Everett 5, Lee Il. Theory of deviance

C. Emile Durkheim |III. Theory of stratification
D. Max Weber IV. Suicide theory

Choose the correct answer from the options given below:

it -1 B 3 -1l 3 AR iR

et -| et -l
A, 313 W, \dar [|. genet w1 Rigia
B. wadc uw et 1. farerctor @1 firgra
C. sauser gadla 1. srsteur wr Bigin
D. faw Az V. ancarsren firgia

sl fon s1e Repedl & 3 318l 302 gfone :
[Question ID = 1516][Question Description = 52_gSNz_PG_SWK_Q68]

1. A-l,B-Il,C-lll, D-I¥ [Option D = 6061]
2. A-ll,B-I, C-l,D-I¥[Option ID = 6062]
3. A=, B, C-IV,D-ll[Option ID = 6063]
4, A-I¥,B-ll, C-ll, D-l[Option D = 6064]
Carrect Answer ;-

 A-l,B-ll,C-lll,D-IV[Option ID = 6061]

69) Match List | with List Il

List | List Il

A. Remedial Model l. Vintor.R.D

B. Reciprocal Model Il. W.Schwartz

C. Developmental Modellll. Bernstein.S & Lowy

D. Social Goals Model  |IV. Gisela Konopka & Weimer
Choose the correct answer from the options given below:

TRt -1 @ et -1l A ARE Hif
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ot -1 redt -1l

A, SUEIRICHD AT |, feoez arz, &,

B. arc=iloa wrsal . seaq Farcst

C. Rrormawas msa 11, Sre=s=iior o1 ¢ il

D . smmfas s aEsa IV, Sfrem wrmeT sz diea

ofta v =1 frwseal & 7 A saz gfew :

[Question ID = 1517][Question Description = 52_qSNz_PG_SWK_Q69]

1. A
2. A
3. A
4. A

Correct Answer :-

-1, B, C-ll, D-IV [Option ID = 6065]
-V, B-ll, C-Il, D -l [Option 1D = 6066]
AL, B-IV, C-l, D-lll [Option |D = 6067]
AL, B -1, C-IV, D-ll [Option 1D = 6068]

e A-1,B-lIl,C-lll,D-IV[Option ID = 6065]

70) Match List | with List Il

List | lList 1

(Role) |{Strategy}

A, Enabler |I. Research and Planning
B. Planner I, Finding Solution

C. Activist |III. Community Education

D, Outreach

IV. Social Action

Choose the correct answer from the options given below:

I -1 B it -1l A gAfera B ¢

aredt -1

et -1l

(i)

|(=drsTom)

A, F13rel aeIel arenr

|I. MoFiemer aitz A¥ston

B. fsiel deltel aren

Il, szanemer Dol
| qm

C. wrl @y aen

1. s Rren

D. uda z@e aen

|IV. Hara fogen

oftdr v 1o Rraseal 3 A1 = saw gfene ¢

[Question ID = 1518][Question Description = $2_qgSNz_PG_SWK_Q70]

[
=]
=
=
]
'] 2
-+
=
=
W
=
]
=
.

C-lll, D -1V [Option ID = 6069]
C -1V, D -1ll [Qption ID = 6070]
C -lll, D -1V [Qption ID = 6071]
C
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71) Match List | with List Il

List | List Il

A. Oral History |. Quantitative data

B. Survey Il. People's knowledge

C. Sampling Ill. Indepth Study of a Unit

D. Case Study

IV. Representative of a Whole

Choose the correct answer from the options given below;

et -1 @ et -1l 3 ARE Hif

areht - areht -1l

A, difta® shiemm |, AREHD aies

B. srdgmon Il. a=il @1 s

C. gftraerer [l. Frelt sworf w1 1501 seaRe
D. &9 sRE |V, s1ar @1 yierfortér

aitdr v oo frwseal 3 A =8 saw gfee ¢

[Question ID = 1519][Question Description = $2_qSNz_PG_SWK_Q71]

A-l,B-ll,C-lll,D-IV [Option ID = 6073]
A-ll,B-l,C-I¥,D -l [Option ID = 6074]
A-lll, B-IV, C-l,D-ll [Option ID = 6075]
A-IV,B-lll, C-Il, D -l [Option ID = 6076]

T e

Correct Answer :-

® A-l,B-Il,C-lll,D-IV[Option ID = 6073]
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72) Match List | with List Il

List | List II
A. Ayushman Bharat Yojana ]I. Ministry of Social Justice and Empowerment
B. Rashtriya Vayoshri Yojana|l|. Ministry of Minority Affairs

C. Ustaad ‘III. Ministry of Health and Family Welfare

D. National Creche Scheme |IV. Ministry of Women and Child Development
Choose the correct answer from the options given below:

et -1 B 3t 11 3 wpifer B

et -| et -l

A. ARIRIHATGT A ATl |l Fmafsrs car ed A9RbID IV dqicr
B. wredler aritoft itron 1. srecrsimeras s w1 s

C. 37 lll. Farze=r wd uf¥ar oo #Aqert
D. wcdt Riopico dison V. Aol v ol Reor diger

i RRu s1e faescal 3 31 7él 3= gfome .
[Question ID = 1520][Question Description = $2_qSNz_PG_SWK_Q72]

1. A-lll,B-IV, C-Il, D -l [Option ID = 077]
2. A-ll,B-lll,C-IV, D -l [Option ID = 6078]
3. A-ll,B-1,C-Il, D-IV [Option ID = 6079]
4. A-l,B-Il, C-Nll, D-IV [Option ID = 6080]

Correct Answer -
e A-lI,B-IV, C-ll,D-l[Option ID = 6077]

73) Match List | with List Il

List | IList I
Name of Committee/Commission |Field
A. Rangarajan Committee

I. Agricultural sector reforms
B. Balwant Rai Mehta Committeelll. Measurement of Poverty
C. Kasturi Rangan Committee  |lll. Panchayati Raj

D. Swaminathan Commission |IV. National Education Policy
Choose the correct answer from the options given below:

it -1 B 3t -1l 3 @R iR

et -| et -l

(afddderr / seier w1 s) |{ 8

A. SoTertor sIfhfr I ftr &g ez

B. sorda =1 Agan Al 1. a5t <1 o
C. wrglt o afdf 1. cremerdt =

D. wamiloieot awer IV. srsdir Rz iRy

i Ru s1e faescal 3 31 7él 3= gfore
[Question ID = 1521][Question Description = $2_qSNz_PG_SWK_Q73]

1. A-Il,B-ll,C-l, D-IV [Option ID = 081]
2. A-IV,B-lll, C-Il, D -l [Option ID = 082]
3. A-ll,B-l, C-ll, D-IV [Option ID = 6083]
4. A-ll,B-1l, C-IV, D -l [Option ID = 6084]

Correct Answer -
o A-ll,B-Il,C-l,D-IV[Option ID = 6081]

74) Match List | with List Il

List | List Il

A. World Down Syndrome Day 1. 21 March
B. World Meteorological Day 1. 23 March
C. World Water Day Il. 22 March
D. World Tuberculosis Day 1V, 24 March

Choose the correct answer from the options given below:

et -1 ot et -1l 3 g Hif

e -l aeh Il
A. T sea Bwsia fean I, 21 &k
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B. Ry witem Rrser Baw 0. 23 st
C. fra st Ram I, 22 st
D. fra mdifw Raa V. 24 o

i 2w s1e faescal 3 31 7él I gfome .

[Question ID = 1522][Question Description = $2_qSNz_PG_SWK_Q74]
1. A-1,B-ll, C-lll, D-IV [Option |D = 6085]

2. A-lIl,B-l,C-IV,D-Ill [Option |D = 6086]

3.A-11,B-IV,C-1, D-ll [Option ID = 6087]
4. A-I¥,B-lIl,C-Il, D-I[Option ID = 6088]

Correct Answer -
® A-l,B-1Il,C-lll,D-IV¥[Option ID = 6085]

75) Match List | with List Il

List | IList 11

Articles in the

[Description
Constitution of India P

Il. Reservation of seats for SC/ST in the Lok

A. Article 243 D
TREe Sabha

I, Reservation of seats for SC/ST in the

B. Article 243 T
rriete Legislative Assemblies

C. Article 330 |III. Reservation of seats in Panchayats

D. Article 332 |IV. Reservation of seats in Municipalities

Choose the correct answer from the options given below:

TR -1 @ et -1l A ARE B

oreht -| et -l
(sireit=r wfcema @ (iiferer R )
&1 i |
A. smpeeic 243 & |, clfcoara 3 afo]. L. / a1, . i, @ Hick @1 amzgror
1. fyeror arsaraii 3 arof, Sin / an w1 9 @ i o
B. sgrenie 243 &
3 TS0
C. sgrene 330 1, deemdr 3 it o anzann
D. sgese 332 1V, srerrarferastait # HE o1 amsam

ofta v =10 Rraseal & 7 Ad saz ofew :

[Question ID = 1523][Question Description = 52_qSNz_PG_SWK_Q75]
1. A-<l,B-ll,C-ll,D-IV

[Option ID = 6089]
2. A-l1,B-ll,C-IV,D-INl

[Option ID = 60390]
3 A-L,B-IV,C-1,D-N

[Option ID = 6091]
4. A-IV,B-ll,C-1l,D-l

[Option ID = 6092]

Correct Answer :-
e« A-l,B-II,C-I0,D-IV

[Option ID = 6089]

76) Arrange the different phases of development of the Social Work profession in ascending order
A. Charity

B. Development

C. Empowerment

D. Welfare

Choose the correct answer from the options given below
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AT BRI Faar & faem & Rfiea sarenall o aAd am I =afiea Hifsmw ;
A, Tt

B, e

C. Igiftpaor

D. wemer

il R 1w Rraseal 3 3 78 3w w1 awer S :

[Question ID = 1524][Question Description = 52_gSNz_PG_SWK_Q76]

1. A, B, C and D [Option ID = 6093]
2. B, C, D and A [Option ID = 6094]
3. D, A, B and C [Option ID = 6095]
4. A, D, B and C [Option 1D = 6096]

Correct Answer :-
e A, B, C and D [Option 1D = 6093]

77) Arrange the books in order of publication from earliest to most recent:
A, The Sociology of Science - R.K,Merton

B. Das Kapital - Karl Marx

C. The Division of Labour in Society - Emile Durkheim

D. Modernisation of Indian Tradition - Yogendra Singh

E. Community: A Sociological Study - Maclver

Choose the correct answer from the options given below

gd 3 arimrel & on # foreifasa gyrael & ymies &) aafiaa Hifsm ;
A, T FRRERN Hife aEw - R, &, kT

B. gra1 diftiee - @ref anmad

C. g fdister aife daz sof ANEd - saEd gxEila

D. digonzatont i e ¢l - ARl Ria

E. orgfordt v Aforiditimeda Fedl - Aw azaz

olfar 16 s1e faaseal 3 3 71l Iz &1 aas Hifaw ¢

[Question ID = 1525][Question Description = $2_qSNz_PG_SWK_Q77]
1. B,C, A, DandE

[Option ID = 6097]
2. B,C,E,Aand D

[Option ID = 6098]
3. B,E, A, CandD

[Option ID = 6099]
4, B, A, C,Eand D

[Option ID = 6100]
Carrect Answer :-
¢ B C A DandE
[Option ID = 6097]

78) 'Name-calling’ is frequently observed with respect to Persons with Disability because it ;
A, reflects the hegemony of the able-bodied

B. is offensive

C. is acceptable

D. is an instrument of oppression

Choose the correct answer from the options given below

Ieois1 calepedl @ gfa a1z - 91 Hs Ao 916l (oiA DIfcieT) I SURIPI [ il 3 TRl aw
A, ofifyer wu 31 wgW cafipadl @ anfiaee ygidfa o=a &
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B. sramrersiors ian 3

C. wwrf dtar 3

D. sedizar @ wnee ar ¥

ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans

[Question ID = 1526][Question Description = 52_q5Nz_PG_SWK_Q78]
1. A, C,and Donly/@am A, Caiz D

[Option ID = 6101]
2. A, B, and C only/dme A, B iz C

[Option ID = 6102]
3. A,Band Donly/@am A, Baiz D

[Option ID = 6103]
4, B, Cand Donly/g=a B, C iz D

[Option ID = 6104]

Correct Answer ;-

o A C and Donly/dam A, Caiz D
[Option ID = 6101]

79) Arrange the major writings of Mary Richmond in chronological order.
A, Friendly Visiting Among the Poor

B. Social Diagnosis

C. What is Social Case Work?

Choose the correct answer from the options given below

3% Praaos @ gaa asil o wicraaerR crafiea St ¢

A. G scltfafifeor ot o gars

B. storer srrentantita

C. w5 wa aws ?

oflY R o1e Rraseal 3 31 78 v w1 aver S :

[Question ID = 1527][Question Description = 52_qSNz_PG_SWK_Q79]

A, B and C [Qption ID = 6105]
C, B and A [Option ID = 6106]
B, C and A [Option ID = 6107]
B, A and C [Option ID = 6108]

oW =

Correct Answer :-
e A, Band C [Option D = 6105]

80) Arrange the steps of hypothesis testing in order:
A. Set up a hypothesis

B. Set up a suitable significance level

C. Set a testing criterion

D. Do computations

E. Make decisions

Choose the correct answer from the options given below

uf¥meusn wiswr & frafafian awil =1 oo 75 |

A, uf¥scuon forerifs owen

B. 3uged wrefoan Faz forenited oon

C. widtgn wrercs faerife oon

D. uf¥smred &re

E. forofa drom

ofl R o1w Rroseal 3 31 78 swe w1 aver St :

[Question ID = 1528][Question Description = S2_qSNz_PG_SWK_Q80]
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| 1. A, B, C,D,E

[Option ID = 6109]
2. A,C,B,D,E

[Option ID = 6110]
3. C,A,B,D,E

[Option ID = 6111]
4. B,C,A, D, E

[Option ID = 6112]

Carrect Answer :-
« A B CDE

[Option ID = 6109%]

81) Arrange the following policies in a chronological manner from the earliest to most recent
A. Pradhan Mantri Ujjwala Yojana

B. Pradhan Mantri Gram Sadak Yojna

C. Swachh Bharat Abhiyan

D. Ayushman Bharat Yojna

E. National Broadband Mission

Choose the correct answer from the options given below

forgmteilian Siierl @ gd 31 apil ao & @ # Sroamer wrafdea $Hifay @

A, qarsia]l #dl Seeraon dieten

B. el apa Aso Alstol

C. zaz wza alifm

D. MRJRIATE M AsToll

E. sl grsdvs frerer

olil 6w a1z [amedl d 3 7l 3z @I wRs it ¢

[Question ID = 1529][Question Description = $2_qSNz_PG_SWK_Q81]
1. B,D, A, C, E

[Option ID = 6113]
2. D,B,AEC

[Option ID = 6114]
3. B,C,A,D,F

[Option ID = 6115]
4, D,B,C, AE

[Option ID = 6116]

Carrect Answer :-
« B D ACE

[Option ID = 6113)

82) Arrange the following in the correct sequence :
A. Message composition

B. Message encoding

€. Medium of transmission

D. Reception

E. Motivation

Choose the correct answer from the options given below

Toramteil¥an © 1l A A cralier o1 ¢
A, Hog9l sl
B. srcc9r @ deton

C. ganwm @1 ARAH
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D. sf2regzor
E. sifdrgrer
ol fou sre fepedl 3 3 w1l st @1 aws difene ©

[Question ID = 1530][Question Description = $2_qSNz_PG_SWK_Q82]
1. A,B,C,D,E

[Option ID = 6117]
2. E,D,C, B, A

[Option ID = 6118]
3. E,A,B,CD

[Option ID = 6119]
4. A,E,C,B, D
[Option ID = 6120]
Correct Answer -
« AB, C,D,E
[Option ID = 6117]

83) Arrange methods of dispute resolution by a manager in an institution
A, Adjudication

B. Arbitration

C. Negotiation

D. Conciliation

Choose the correct answer from the options given below

Fxen 3 v gt & R AAIETS @ aile! o sraliea $Hifse
A. aftrsola

B. o= ool

€. Altraraiar

D. wastian

il R s1g Rraseal 9 31 78 307 w1 awar Hifsre :

[Question ID = 1531][Question Description = 52_qSNz_PG_SWK_Q83]
1. A,B,C,D

[Option ID = 6121]
2. B,C, D, A

[Option ID = 6122]
3, C,D,B,A

[Option ID = 6123]
4. D,C, B, A

[Option ID = 6124]
Correct Answer :-
« A B, C,D

[Option ID = 6121]

84) Arrange the stages of Social Group Work in sequential order,
A, Engagement

B. Exploration

C. Planning

D. Intervention

E. Evaluation

Choose the correct answer from the options given below

Frfsre Ag oR & vl o ol 3 saafiera Hifem
A, faforitser
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B. (=) a=idgror
C. s
D. s¥agiu
E. scaicwot
ol fou sre fepedl 3 3 w1l st @1 aws difene ©

[Question ID = 1532][Question Description = $2_qSNz_PG_SWK_Q84]
1. A,B,C,D,E

[Option ID = 6125]
2. C,B,A,D,E

[Option ID = 6126]
3. B,C,A,D,E

[Option ID = 6127]
4. A, C,B,D,E

[Option ID = 6128]
Correct Answer -
« AB, C,D,E
[Option ID = 6125]

85) Arrange the following chronologically:

A, Abolition of Untouchability under Article 17

B. The Civil Rights Protection Act

C. The Schedule Castes & Schedule Tribes (Prevention of Atrocities) Act

Choose the correct answer from the options given below

Breattitina o wowmn @ saar waiea i

A, sroreee 17 oF sideta aagower w1 Isueel

B. simibrs aftrpy Hegror siftforas

C. ol sty 317 sl o1 safy (sedisor @ Brareor) sl .
il R s1g Rraseal 9 31 78 307 w1 awar Hifsre :

[Question ID = 1533][Question Description = 52_qSNz_PG_SWK_Q85]
1. C,A, B

[Option ID = 6129]
2. B, A,C

[Option ID = 6130]
3, AC,B

[Option ID = 6131]
4. A, B, C

[Option ID = 6132]
Correct Answer :-
« AR

[Option ID = 6129]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A ; Social legislations ensure access to fundamental rights.
Reason R : Public Interest Litigation cannot be filed for violation of social legislations.

In light of the above statements, choose the most appropriate answer from the options given below

ofl) &Y o Ru sme 3w aifinweret (A) @ wu 3 Rilfaa 3 @ gz 33w oror (R) S wad .
sifirwemt (A) : sl fRienra Fanfror suepe Fhika o 8

mrvl (R) : wmenfre Rena & sooge © Rio saiza kot sre &1 6 s a3

IR Wl D D 3, skl Y o1e Raedl d A A9 3ugrs 39 ®1 36l Bifse

[Question ID = 1534][Question Description = $2_qSNz_PG_SWK_Q86]
1. Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) S =28 & sz (R), (A) 6 =2 =w=m &
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[Option ID = 6133]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) =t 3@ & qaeg (R), (A) & =8 sy =2 2

[Option ID = 6134]
3. Ais correct but R is not correct/(A) = £ afsm (R) =dt ot 2

[Option ID = 6135]
4. Ais not correct but R is correct/(A) ot =t 2 &fvmr (R) =& &

[Option ID = 6136]

Correct Answer ;-
e Both A and R are correct and R is the correct explanation of A/ (A) iz (R) =i =8 £ iz (R), (A) & =8 wonen 2

[Option ID = 6133]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A ; Industrial Social work is a systematic way of helping individuals and groups towards better adaptation to work
situation.

Reason R : The professionally trained social worker can develop his/her programmes at preventive, developmental and
curative levels,

In light of the above statements, choose the correct answer from the options given below

i1 <1 el R s 31w afirseret (A) @ w=u ¥ fafiaa 3 at gz sud o (R) S =a & |

atfirnerat (A) © afizlBre wrana orf ifis ud 718l & Rt &t frafa & arer daaz sivliaszor 6 warman & oo e crafier guiel 2
o1l (R) : smaaRe »u 1 qiofie 3ene eorieat ories, fAernas uvd «nffenad i uz T@ & Ry eiia o T 8
IURITD el B Alclid ¥, ok U 21 fieedl 3 31 Fa3Y SUED 3w &l o:iol HIfg

[Question ID = 1535][Question Description = $2_qSNz_PG_SWK_Q87]
1. Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) Seil a7 & 4z (R), (A) & =8 o= &

[Option ID = 6137]
2. Both A and R are true but R is MOT the correct explanation of A/(A) diz (R) == = & uz=g (R), (A) &5 78 =ne=m =t &

[Option ID = 6138]
3. Ads true but R is false/(A) == &, dftswr (R) ammy &

[Option ID = 6139]
4. Ais false but R is true/[A) srer= g, afoa (R) g 2

[Option ID = 6140]
Correct Answer ;-
# Both A and R are true and R is the correct explanation of A/(4A) 3z (R) 3= 3 & iz (R), (A) & 38 = 2

[Option ID = 6137]

88) Given below are two statements
Statement | : Community based organizations must follow the principles of social justice and human rights.
Statement |l : Community based organizations must not be sectarian in nature,

In light of the above statements, choose the most appropriate answer from the options given below

offr <1 erer Ru 0 & |

werel - | Haer anenfyT Fstonl o AWIGKE AR iz #lea arorRi & Bigil o uice owen mide
werd - || | sera smenfy Fieioeil @ dgerardt sidl o migy

SURITP oGl @ ACD 3, sk KU oo ool # 21 A6 SURTs Ju &I aJd Hifery |

[Question ID = 1536][Question Description = 52_qgS5Nz_PG_SWK_QB88]
1. Both Statement | and Statement [l are correct ferer | &z || Sl =2t £

[Option ID = 6141]
2. Both Statement | and Statement [ are incorrect/wem | &z 1| Sial et &

[Option ID = 6142]
3. Statement | is correct but Statement Il is incorrect/wemt | et 8, froy oo || oewT

[Option ID = £143)
4, Statement | is incorrect but Statement (1 is correct/wem | ars 2, freg wem |l mwa

[Optian ID = 4144]
Correct Answer :-
& Both Statement | and Statement |l are correct/mam | #iz || Sel =28 &
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[Option ID = 6141]

89) Given below are two statements

Statement | : Reciprocal model of social group work is based on open system theory, humanistic psychology, and existential
perspective.

Statement Il : Remedial model of social group work is based on programming social consciousness, social responsibility and
social change.

In light of the above statements, choose the most appropriate answer from the options given below

oI <) el R s &

wual - | At AEde SRl o sran gioens e oaren Rigid, deaaard Jeifasre iz alacaardt af¥lga oz smenfea 2
el - || ; InEnfors aufes oRl &1 suart! giiene, Fie siadaon @ aaneels], M sawiRd i wenfae afrade az smenfea 2
IO el O srers 3, oikl e s1¢ Roedl | A |a9A 3agws e o g96 SifSie

[Question ID = 1537][Question Description = 52_gSNz_PG_SWK_Q89]
1. Both Statement | and Statement [l are correct/wem | &z 1| St =2t &

[Optian ID = 4145]
2. Both Statement | and Statement |l are incorrect foem | Hz || 6l s &

[Option ID = 6146]
3. Statement | is correct but Statement Il is incorrect/wem | =t &, fveg werm || orwr &

[Optien ID = 6147]
4. Statement | is incorrect but Statement |l is correct/@memr | srer 8, Prog wemt || 3

[Option ID = £148]

Correct Answer :-
& Both Statement | and 5tatement [l are correct fosem | &7 || S =8 2

[Option ID = 6145]

90) Given below are two statements

Statement | : Under the Protection of Women from Domestic Violence Act, 2005, "verbal and emotional abuse"” includes
insults, ridicule, humiliation, and name calling.

Statement Il : The insults or ridicule specially with regard to not having a child or a male child is not punishable under the
Act.

In light of the above statements, choose the most appropriate answer from the options given below

ol €1 e Resm &

werd - | 3 ag e 3 sifgomsii @1 szemt aftiforma 2005 o siaefa "ot iz smarse gefasr” # srasimel, Iuerd, JAATEIG Ud ARl
afinfera sz &

averat - || @ azen sidl Stair @ gy o8 Bty @ Fser 3 Brar srn sraaier ar 39E wige @ sasta dsofta oiél 3
IR Wl O e A, sikl B s1¢ Reoedl # A AgdA sayys 97 o g6 $Sifsng

[Question ID = 1538][Question Description = 52_gSNz_PG_SWK_Q90]
1. Both Statement | and Statement [l are correct/wem | &z 1| St =2t &

[Optian ID = 6149]
2. Both Statement | and Statement |l are incorrect foem | Hz || 6l s &

[Option ID = 6150]
3. Statement | is correct but Statement Il is incorrect/wem | =t &, fveg werm || orwr &

[Optien ID = 6151]
4. Statement | is incorrect but Statement |l is correct/@memr | srer 8, Prog wemt || 3

[Option ID = 6152]

Correct Answer :-
& Both Statement | and 5tatement [l are correct fosem | &7 || S =8 2

[Option ID = 6149]

Topic:- SocialWork_SHAAN_NOV21B

1) Read the given passage and answer the question

Social workers should critically assess their own practices and be aware of their impact on others. They should recognize the
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limits of their practice and seek the advice of other professionals if necessary in order to ensure that they work in a more
effective manner, They should also routinely review the professional literature and participate in continuing education
relevant to social work practice and social work ethics. Social workers should not allow their own personal problems,
psychological distress, legal problems to enter into professional performance.

Social workers should ensure that they do not participate in, condone or be associated with dishonesty, fraud or deception.
They should ensure and must shoulder responsibility and credit, including authorship credit, only for work they have
actually performed and to which they have contributed. They should honestly acknowledge the work and contribution made
by others. Social workers must work for the promotion and maintenance of a higher standard of education and for practice.
Social workers must uphold and advance the values, ethics, knowledge, mission and goals of the professions. They must be
open to peer learning, tolerance for criticism, innovative strategies and creative ventures.

foramfcitian serion o eamegele ulee iz gt @1 az Sifaw @

FAllGIe wRImalil ! Al CaaeR] &1 WAEHR AT JFodibd Bl aiee Az g3l Uz Jod YHId o il APRe® sl dIfew Jo8 Aol
sraarz i il B uzare 2l @fzu sz A Flerfra ool & e i a4 oo s gl aftds 31 o o E g saamRes oricedaladt 3 e
IAYRD & Al FCHE ohoil dIide o6 RIGHIRKD Hlard ol [T YorRiZT weon iz 307 FHE ORI RINER T2 JHA6] BRI AR”RE 93 T
qiifers A Y 3 smeiierd! oelt ey aenfas Sriealsl o suelt saftesra sraE=nadl, #elidsniors woran ae [l - s szl o1
sz Broargs # gaer &t i adl Soft miide

amifdres wriaalisi o a5 gitfia wwen wBe /5 & o et &, o yodeh o ar oo, wae, o, daa, gaRon A T9ag 8 368 gioria awen
e 367 s FrweiRica Bt Prsdard aen g1 doft mizw, fireat dadla g st ot Fedior arsafas wu 3 foe 2 3z Berd gt Jeeia
Marerol foam 2 308 ooyl A o3l & Rt iz e s1e drieer ol Anten alfe  Frnfse sricall of Rien & gaa 7 o1 =aaR &
giraigal iz FFdiger @ e smed Rl ween wiide wmnlrr oriwalai o s @ 3gl, sSiaR - 913, Feeed iz agdl bt sriiar 3z
Foollcl D TRIN Tell a2y Jod Hermeht aftem, wafien o fere afacupm, sraraeg o - i sl wencae AEirs rRf 2 degd 2ol
afde

How would you like to title the above mentioned passage?
IRITE sEnen @il gitdos amu R St sy ?

[Question ID = 1539][Question Description = $2_qSNz_PG_SWK_Q91]
1. Critical Apprafsal of Social Work Profession/mera ol 8 @ mwilsmrar srakeuan

[Option ID = 6153]
2. Advisory for Social Workers/ senfoes writealil & o ozt

[Option ID = 6154]
3. Responsible Criticism of the Profession/=mmam &t saeorlt Aetien

[Option ID = £155]
4. Code of Ethics for Social Workers//s=mifaes oorfammldt & B amors S

[Option ID = 6156]

Correct Answer ;-

# (ritical Appraisal of Social Work Profession/zera wr 18 @ Switenrae fofarsa
[Option ID = £153]

2) Read the given passage and answer the question

Social workers should critically assess their own practices and be aware of their impact on others, They should recognize the
limits of their practice and seek the advice of other professionals if necessary in order to ensure that they work in a more
effective manner, They should also routinely review the professional literature and participate in continuing education
relevant to social work practice and social work ethics. Social workers should not allow their own personal problems,
psychological distress, legal problems to enter into professional performance,

Social workers should ensure that they do not participate in, condone or be associated with dishonesty, fraud or deception.
They should ensure and must shoulder responsibility and credit, including authorship credit, only for work they have
actually performed and to which they have contributed. They should honestly acknowledge the work and contribution made
by others. Social workers must work for the promotion and maintenance of a higher standard of education and for practice.
Social workers must uphold and advance the values, ethics, knowledge, mission and goals of the professions. They must be
open to peer learning, tolerance for criticism, innovative strategies and creative ventures,

foramfcitian serion ot camegEle ulee iz gt @1 az Sifaw ¢

FAIlGIe BRImalil ®! A6l CaaeR] &1 FAEER AT JFodibd Bl alse Az gl Uz Jod YHId o il APRe® ool dIfen o8 Aol
wragrs ot s @t asare Sieh @ifdve s A geia ot @ Re 5 3 o sarr gurll alids 3 il o § o sramBer wrdwalis A ser
MIA9AE Bl 7l ICIE Tloll UIide Jod IaIRiD Hlizcd &I folrd YoldiguT ol Miew 3l JAAG DRI SINER T8I A BRI AR 9] P
qiifers A e 3 smeiierd! oelt ity aenfas oriwalsl o el sfteera sz, #elidsniors ooan ae [l - s szl o
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sz fBrearge # gaer &t sagafa adl Soft miide

Fifdre wriaalisi o a5 gitfia wwnr we /5 & o et &, o yocel o ar oo, wae, ohan, daa, gaRon A J9ag & 368 gioria awen
aifde sfiz arga FreciRicd Bt R aer 9 Aol midy, Fredi dradia ok s orf Jedier ARl wu 3 e 3 e Rerd git sediat
wsrgrot foen & 358 Smorcrit A gad @ wrd v Ry s1e dFmga o ween afde s wrioaisi o ien © s sz O sase &
giraigal Az FFdge @ R smed Rl ween wiide Al oriwalai o coasm @ Jel, iR - 913, Seleed iz agdl bt srier afiz
Foollcl 1 TRIN Txol a2y Jod Hermeht aftem, waiien o fow afacum, saraeg orf - i sl wencae AEiis orRf 2 degd 2ol
e

The cursory reading of the above passage gives an impression that

A. Social workers are indulged in unethical practices.
B. Social workers allow their personal problems in their professional practices
C. Social workers do not take plagiarism very seriously

Choose the correct answer from the options given below:
IWRTe IEn @i 131 - Uoe U {Re 3an & kb -

A, st BRibdal srR-wHida @ Ridda caasri # dosu 8

B, wmnfores orieat et SraalRes «rasii 3 ol daftea aaeensil © sogata s g
C. manferes wrfoal s o agr shftem  ad aa g

i) feu o1v famscul 3 3 Ae3 SWRpTs Jaz @ A difeny |

[Question ID = 1540][Question Description = 52_gS5Nz_PG_SWK_Q92]
1. Aonly/@aa A

[Option ID = 6157]
2. Aand Bonly/asmm Adz B

[Opticn ID = 6158]
3. Band € only/@aa B &tz C

[Option ID = £159]
4, A, Band C/A, B3z C

[Option ID = 6160]
Correct Answer :-
o Aonly/@aa A
[Option ID = 6157]

3) Read the given passage and answer the question

Social workers should critically assess their own practices and be aware of their impact on others. They should recognize the
limits of their practice and seek the advice of other professionals if necessary in order to ensure that they work in a more
effective manner. They should also routinely review the professional literature and participate in continuing education
relevant to social work practice and social work ethics. Social workers should not allow their own personal problems,
psychological distress, legal problems to enter into professional performance.

Social workers should ensure that they do not participate in, condone or be associated with dishonesty, fraud or deception.
They should ensure and must shoulder responsibility and credit, including authorship credit, only for work they have
actually performed and to which they have contributed, They should honestly acknowledge the work and contribution made
by others. Social workers must work for the promotion and maintenance of a higher standard of education and for practice.
Social workers must uphold and advance the values, ethics, knowledge, mission and goals of the professions, They must be
open to peer learning, tolerance for criticism, innovative strategies and creative ventures.

forraifertian srerieor &1 tanergds ufew afiz geat oT saz dfm

ARNtAE SRiwall ol el FER! & AHIaaAT Jeidsl Srall At Az Al U2 Jod Ya D Yl ARTsd sloll AT Io8 oY
el Al sl @l usdret Sioll @iz siie A Fioitm ol @ e /& 4 oo seer g a3 3 Rl o 3 o3 craaniExe oriwalsl 3 ser
ATI9NE 2l ol Hellg oiofl afde 368 saamRie Hifadca o1 folca Yorteinn ool aifau 3iiz AT DR waer den A3 SR A onse &
qrEBrs Aaq e F soshierd Soft a3y mrnfer wredwalil @t sraeht safRpsra awsasi, Aeidsnionr wrar aer Rt - Rerms asrEal ot
RIAAIRKE foreuea & gaor &6 gt sdt 2ot mize

e SrRimalal o G Jlolea oo wfge i d & we d, o Jecsll @ a1 o, U, N, i, YeRvl 3 HJFg 6l o JolBIa ool
aifde 3iiz sraew sarcifea &t Bravard aen g it afdv, Brad doadta da it o sesior arafas wa & oo 3 i Brerd gfer seaian
APIH [ § 3o faccrl A ol @ il iz R o1¢ Aeco @l wepn aize  Aasfrr wriaoali ! B & o1 71 391 *Raer ©
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Qicansot iz Frdhger @ g smew wrl wwon mfde e wriwalil o srawr & geed, smae - onvy, sneiey i ageil & wafer 3z
Joolldl D1 ORIA el Wiigy Jof Aermell Aftem, weiten & oo afdwan, sarenwEs o - slifa i merae aEiice SRl 29 Aegd 2
aide

What has not been advised by the author for Social Workers in the passage?

srgriol # A © o Anber wrioats @ Rie o o8 geren sen § ?

[Question ID = 1541][Question Description = 52_qSNz_PG_SWK_Q93]
1. to seek advise of others/sa3l A woms d=n

[Option ID = 6161]
2. to participate in continuing education /2w 13T 3 et oo

[Option ID = £162]
3. to criticize other's work/sad o writ &t soeicen weer

[Option ID = $163]
4. to allow psychosocial and legal problems in practice/=Iag= # 75! - AENkre w4 KE - Foaere speasi ! agEk S

[Option ID = 6164]

Correct Answer :-
e to seek advise of others/sa3 3 mmmwE d=n

[Option ID = 6161]

4) Read the given passage and answer the question

Social workers should critically assess their own practices and be aware of their impact on others, They should recognize the
limits of their practice and seek the advice of other professionals if necessary in order to ensure that they work in a more
effective manner, They should also routinely review the professional literature and participate in continuing education
relevant to social work practice and social work ethics. Social workers should not allow their own personal problems,
psychological distress, legal problems to enter into professional performance.

Social workers should ensure that they do not participate in, condone or be associated with dishonesty, fraud or deception.
They should ensure and must shoulder responsibility and credit, including authorship credit, only for work they have
actually performed and to which they have contributed. They should honestly acknowledge the work and contribution made
by others. Social workers must work for the promotion and maintenance of a higher standard of education and for practice.
Social workers must uphold and advance the values, ethics, knowledge, mission and goals of the professions. They must be
open to peer learning, tolerance for criticism, innovative strategies and creative ventures.

Rraftitiaa s @t camgeie ufge iz goa @t a0 §iEm ¢

ARG RGN @ 396! RIGERI W1 ARG JeAie] el aifde iz g7rl U I YpiId & gfel sIeRem Siell aifa? Io8 3ol
srearz ol sl B ugare el @fae iz A glerfua ol @ o 6 4 v s gurEdl afids 3 ort wra E o) sramies oricalall 3t aer
IAYRD & Al FCHE Thoil dlise I8 RIGHIRKD Hliard ol [T gorizT weon iz 307 FHE ORI RINER T2 JHAE] ORI MRRE 93 T

g Fa Bisn 3 swelierd! oelt mity aenfas Trimalatl O ausht =iftesera s, Aelidsilern caal e [Aifl - foeers el of
s fPrr forsavsst 3 qaer @bt sropier ol <ot Tiidw

aifdres wriaalisi o a5 gitfia wwen wiBe /5 & o et &, o yegel o ar oo, wae, o, daa, garon A T9ag & 368 giorim aeen
wifdw 37 s Fnweiica Bt Pk aen g1 doft mizw, fireat dadla g st wrf Fediel arsafas wu 3 e 2 3z B gftt Jeeia
Marerol feam 2 3od ooyl A o3l & Rt iz e s1e dweicer ol Aclen alfée  Frnfse sricall of Rign & g 7R o1 =MEr &
giraigal A FFde @ 1o smed Rl ween wiide Amnlrr oriwalai o coasm @ Jel, AR - 91, Seeed iz agdl Bt srier afiz
Joeilcl D) DRA ISl TRY Jo¢ Asrwel sftrer, witsn & R aftwm, st ort - i iz maras aehice Rt 2 g 2isr
aifde

Social Workers must participate in-

A. Fraud

B. Deception

C. Review

D. Acknowledging others
E. Reflection

Choose the correct answer from the options given below:

e wrRkoatdi @t e 31 e der aiide -
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A. &a

B. en=ar

C. goritemn
D. gei @ AR 31

E. smifRieon
a1 12w o1g fnpoal 3 A 718 307 @1 o @ik

[Question ID = 1542][Question Description = $2_qSNz_PG_SWK_Q94]
1. A,Band Conly/@am A, Baiz C

[Option ID = 6165)
2. C,DandEonly/s@am C, D & E

[Option ID = 6166]
3. Band Conly/samBd=C

[Option ID = 6167]
4, Aand Bonly/@am AdE B

[Option ID = 6168]

Correct Answer -

o A BandConly/@am A, Baie C
[Option ID = 6165]

5) Read the given passage and answer the question

Social workers should critically assess their own practices and be aware of their impact on others, They should recognize the
limits of their practice and seek the advice of other professionals if necessary in order to ensure that they work in a more
effective manner, They should also routinely review the professional literature and participate in continuing education
relevant to social work practice and social work ethics. Social workers should not allow their own personal problems,
psychological distress, legal problems to enter into professional performance,

Social workers should ensure that they do not participate in, condone or be associated with dishonesty, fraud or deception.
They should ensure and must shoulder responsibility and credit, including authorship credit, only for work they have
actually performed and to which they have contributed. They should honestly acknowledge the work and contribution made
by others. Social workers must work for the promotion and maintenance of a higher standard of education and for practice.
Social workers must uphold and advance the values, ethics, knowledge, mission and goals of the professions. They must be
open to peer learning, tolerance for criticism, innovative strategies and creative ventures,

foramteitian serion @t eamegEle ufee iz g @1 3az difag @

ARNtIE SRiwat @l el FIER! &1 AHCIIAD Pl Srall Al Az Al U2 Jod Pa D Yl ARTsd sl A2 308 ATy
wrasr? @ il 9 asme ek i3y sy A g owa © R 5 3 ow suer gurll ol A ort o § o wraaPer wriealii A s
MIa9Ac gl dl Hche cloll ali2e 3o caaanlRie Aldea ol [ica Yordlen @zl mize stz Aar orl cadsi a1 A Rl Jkr oneg &
qiifers A Y 3 smeiierd! oelt iy aenfas oriealsl o sl saftesra s, #elidsniors ooan oo i - s szl o
SIRAIRKD forvarsst 3 ygier @61 st a8l 3oi aiide

Il wrRioalsl ol T Jfoidea wIon wize R 9 & st o, of ecEll @i a1 e, wue, Sl oupl, YeRVIL H HJFLg &l Joo HJolEda Dol
enfaw Atz sraea SazcRca 61 Rt aer g doh ey, Bras dzadi @ s rRf sedlal arzafie wu 3 Rowr 2 iz feid gfir sealor
wsrgrot foen & 358 Smorcrit A gad @ wrd v Ry s1e dFmga o ween afde s wrioaisi o ien © s sz O sase &
giraisd 3z FFdawl & e smaea orl wren mifée st orioalsil o caar @ Jodl, AFE - 9%, Flellegd iz agdl &t Frfar Az
Foaifcl o) R Yeen mfde 358 werwel siffera, weften @ Rre wldvoen, sty ol - 5B siiv Faaeaew Asles wril 3 seuga Sten
e

Given below are two statements
Statement I: Social Workers must critically examine their own practice,
Statement II: Professional practice has no limits.

In light of the above statements, choose the most appropriate answer from the options given below
ofl St weast Rusre 3 :

weret - | 1 annfSee wrirvalsii srast g @ wrasRl o Sakeieas aisror ween it
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weret - || @ sraaRier saer @ oI dhn o et @
IR well O Ares A, skl B s1¢ Repeal o A AgdA sy 397 o T Bifsng

[Question ID = 1543][Question Description = 52_qSNz_PG_SWK_Q95]
1. Both Statement | and Statement [l are correct/mem | &z 1| Staf =2t &

[Option ID = 6169]
2. Both Statement | and Statement Il are incorrect/mem | iz || 6l s &

[Option ID = 6170]
3. Statement |is correct but Statement Il is incorrect/wem | wwe &, Boory wem || o &

[Option ID = 6171]
4. Statement | is incorrect but Statement [l is correct/@err | sz &, Frog @em || 38

[Option ID = 6172)

Correct Answer :-
& Both Statement | and Statement [l are correct fwemr | &z || Sieif =t &

[Option ID = 6169]

Topic:- SocialWork_SHAAN_NOVZ1C

1) Read the passage and answer the question given below:

It is often contended that the chief difference between a professional and a non-professional occupation lies in the element
of superior skill. The crucial distinction is this: the skills that characterize a profession flow from and are supported by a
fund of knowledge that has been organized into an internally consistent system, called a body of theory. A profession’s
underlying body of theory is a system of abstract prepositions that describe in general terms the classes of phenomena
comprising the profession’s focus of interest. Theory serves as a base in terms of which the professional rationalizes his/her
operations in concrete situations. Acquisition of the professional skills requires a prior or simultaneous mastery of the theory
underlying that skills. Preparation for a preoccupation with systematic theory, a feature virtually absent in the training of
two non-professionals. because the understanding of theory is so important to professional skill, preparation for a profession
must be an intellectual as well as a practical experience,

forraiferfian srerior &1 tanergds ulfew afiz geat oT saz dfom

gRL: A ad R s 2 s saramnie iz 9z - cnawice srasr & d e iz I oiera @ ad 3 fifga e @ asage s as 3

: Roelt caraaner oot Rifdrse Wi 33 suor @ sise A gra iz Taia 89 3 B vw andfxe Fa A era gonedt 3 dsiida Rear srar 8, 531 RBrom
Rigia a1 sum & fopelt caaara o1 sabifda forer Rrgia 3o ept awamsi &t yoreh it 2 5t 3o ufsacarsii & asit o1 aee 9wl 3
golst w¥h § Boral O9 & Ba @ g e 813§ Bigia o ante © wa 3 ort o 3, B sarer # v e snaaPres g Reaferd & smas
CRICol] I TGS W0l & SIGHAIRKD 9 @ 3fEial @ o Jo1 @il o aafsiiza Brga bt usa 3 = A1 - Fmer orgeren gra w1
AM9ID BNl 2 FAfay fassit caazmrr & fardt 3 genelisma Brgia o1 sgfaa e i 2iar 8, safes 31z - crambie & giiewr 3 a8 aeneT
soafier i 8 ORS smmamRres wigra @ e Rigia & merer Son srcda mecagoi 3, saftre smaar & Feandl |ifyos @ e - Ty
SIAEIiye Aepid Elail arf2u

The distinctive characteristic of a profession is:
gar wraart @ Rifdre spor §

[Question ID = 1544][Question Description = 52_gSNz_PG_SWK_Q96]
1. Practical experience/=mEixr agsm

[Opticn ID = 6176]
2. Training /it

[Option ID = 6175)
3. Superior skills/smore wierr

[Opticn ID = 6173]
4. Body of Theory/Rrem Rigia

[Option ID = 6174]

Correct Answer :-
& Superior skills/zmore wier

[Option ID = 6173]

2) Read the passage and answer the question given below:

It is often contended that the chief difference between a professional and a non-professional occupation lies in the element
of superior skill. The crucial distinction is this: the skills that characterize a profession flow from and are supported by a
fund of knowledge that has been organized into an internally consistent system, called a body of theory. A profession’s
underlying body of theory is a system of abstract prepositions that describe in general terms the classes of phenomena
comprising the profession’s focus of interest. Theory serves as a base in terms of which the professional rationalizes his/her
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operations in concrete situations. Acquisition of the professional skills requires a prior or simultaneous mastery of the theory
underlying that skills. Preparation for a preoccupation with systematic theory, a feature virtually absent in the training of
two non-professionals. because the understanding of theory is so important to professional skill, preparation for a profession
must be an intellectual as well as a practical experience.

Rraftifiaa sEner ot camgee ufge iz gea @t am= §iEm ¢

uRI: AE ao o s 3 e smaafie bz 3 - crauiie craart o da #E A0 o Sivia & aod a ol diar 8 sigvagef g s E

: Tpeit corasr oot faldree lotd 33 Siiol @ Hislz A YA aliz FaAida akd 2 52 v Jarifee a0 A FerT goire 3 FHoida foean sk 2, 231 o
Bigia @a st 2 Rl srawm @ siafia forom Bigia sa serd axsarrl &6 gomeht 2kt E sit 5o afrEeonaii & o=t o1 A sl #
auici il & farord U9l @ @a & &g onfdret el € Tingia wop anmeme < =4 3 Rl oo g, Bl e 3 T gv *raaiRe Jil Referl 3 s
grIersil @l arrHe gonr § aramnRres wieral @ siar @ fore sar wiarel & safsida Prgia & aad 3 ar are - Ay Braoren g w¥en
Mg entl & salom foeefl caaar Bt dard | gonedisa firgia =1 wgfm s onlda gk 2, sefe 31 - camaentae © gfviesm d ag aenet
argJul¥erd Biar 2 <icp IaAIRID wisrd @ fere frgia o A3 ol i #acayul 3, Tafan caraarl &t dard dilge & e - am
Il I Gleil aiflde

Preparation for a profession must be-

A. Intellectual
B. Practical
C. Technical

Choose the correct answer from the options given below:
ue Ul Bt Fard sloft arfee -

A, difg

B. cmazifys

C. vwmolidht

oifr o a1 fimsedl o 3 AR JUygEp JOR @1 oo ifem ¢

[Question ID = 1545][Question Description = 52_gSNz_PG_SWK_Q97]
1. A, Band C/A, Baiz C

[Option ID = 6177]
2. Aand Bonly/asmm A4 B

[Option ID = 6178]
3. BandC only/@ae B stz

[Option ID = 6179]
4, Cand Aonly/dsm Adn C

[Option ID = 6180]

e A BandC/A, BaizC
[Option ID = 6177]

3) Read the passage and answer the question given below:

It is often contended that the chief difference between a professional and a non-professional occupation lies in the element
of superior skill. The crucial distinction is this: the skills that characterize a profession flow from and are supported by a
fund of knowledge that has been organized into an internally consistent system, called a body of theory. A profession’s
underlying body of theory is a system of abstract prepositions that describe in general terms the classes of phenomena
comprising the profession’s focus of interest, Theory serves as a base in terms of which the professional rationalizes his/her
operations in concrete situations. Acquisition of the professional skills requires a prior or simultaneous mastery of the theory
underlying that skills. Preparation for a preoccupation with systematic theory, a feature virtually absent in the training of
two non-professionals. because the understanding of theory is so important to professional skill, preparation for a profession
must be an intellectual as well as a practical experience,

foramfcifian serior ot caegels ufew iz g @1 3az difaw @

URI: AaE a@ 2 s § 5 smaenRe iz 3 - craaiRne craara @ dia g i Joni B9 © wd J oiiza gk § sizragef g as
: Rl coaaner oot Rifdree Wi 33 swor @ sise A gra iz Tafa 86 3 B vw andfxe Fa A era genedt J dsiida R srar 8, 53 RBrom
RBrgia war st @ et s o1 sinfsifza oo RBigia 3o sl axdamei &6 gomedt 3kt & Sit 3o afvaconaii & geil @1 Aamma gl #
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auisr well § Frora G9t @ Ba @ dq afha Aa T Pigia oo e @ wa # ol e 8, B eaer 3 v ge s gl frederi # sroor
Ualcloll @I ddHeld Jelldl & RIdAlRIS BI9kl @ alal @ oy Jol wlorcll @ sialsii2a RBigia & uesd 31 aw Arey - Fmel forquiar Yig ol
sragery B ¥ waftie feddl vaaan & Hendt & genelisa RBrgia o aaRa sier enfder diar 8, stafls 317 - saramPre @ gRisier 3 4 asmet
squi3erm aiar & Ry <uaHiREr vk @ fom Bigi ol 19 Sion aneia #Agraygyi 3, s3foe sgaar Ol derdl sl @ Hrer - A1y
SIqel¥d JgIid Eloil afze

which of the following stand(s) for Professional Skills?

A, Skills require mastery of the theory,
B. Skills come from practice independent of theory.
C. Preparation for skills must be intellectual and practical.

Choose the correct answer from the options given below:
Ades wivra @ Haer # BraftiRaa 33 oia ar et aft 3 7

A. wiorct @ e fagia &t Prgorar srasaws 2t 3

B. wierer arvarar # gy aia ¥ Bramr Bigia A raasg 8 8
C. Dl & Furf difyar iz wnasiye doft mfde

ot e =1 Rraseal A A Fgd sogow a3 o o Hifse

[Question ID = 1546][Question Description = 52_gSNz_PG_SWK_Q98]
1. A, Band C/A, B afie C

[Option ID = 6181]
2. Band C only/@aa B &tz C

[Option ID = 6182]
3. Aand C only/am A diz C

[Opticn ID = 6183]
4. Aand B only/@aa Az B

[Option ID = 6184)]

Correct Answer :-
e A BandC/A, Balie C

[Option ID = 6181]

4) Read the passage and answer the question given below:

It is often contended that the chief difference between a professional and a non-professional cccupation lies in the element
of superior skill. The crucial distinction is this: the skills that characterize a profession flow from and are supported by a
fund of knowledge that has been organized into an internally consistent system, called a body of theory. A profession’s
underlying body of theory is a system of abstract prepositions that describe in general terms the classes of phenomena
comprising the profession’s focus of interest. Theory serves as a base in terms of which the professional rationalizes his/her
operations in concrete situations. Acquisition of the professional skills requires a prior or simultaneous mastery of the theory
underlying that skills. Preparation for a preoccupation with systematic theory, a feature virtually absent in the training of
two non-professionals. because the understanding of theory is so important to professional skill, preparation for a profession
must be an intellectual as well as a practical experience.

fBremterf3an sterior @) taergdas afew 3z gea @1 3az St ¢

e s e Rar sien 3 75 g siiy Siv - soawRos sraara @5 da g sioe scaaz wiora @ ova I Bifda Sien 3 ssvagef ao a5 3

: o2l caaar @1 [l wivia 33 siid @ iR 31 YId 3z aafela gid 2 forl ue andiye w=u 1 dHer Qunedl d deifdd fosen srn 2, 321 forema
foagia oa o 2 fepeil caawma @ siafiaa forem Bigia 3o st adamasl & gquneht 2kt 2 ST 3o afmeenait & aoif & amaea ol 3
auiol il & Frel 091 @ Ra o &g unfde 8 8 Bigia v st @& a0 3 ©orl @ 8, il eama 3 33 3¢ <nasnkRee o Bafed & aaor
UdIcloll I ddHeld Solldl 3 RIdAlRIG SI9l & elal @ oy Jol wlorcl @ sialsiiza RBrgia & uec 31 ar mey - Frer forquiar gig &l
aragery Bien ¥ vaftie fel v & Hendt # genellsa Brgia o1 aaRa sier enfder diar 8, srafls 31 - sraanRre @ gidisir 3 a asmet
Moqutder il 8 kb cuaMRe wiokd @ e Bigia & w3 o sreia #Aevaygyl &, safom sgaar 6 Gl difgo @ amer - A
SIqel¥d Jgid ol aifze

Given below are two statements

Statement I: Theory is a system of abstract propositions.
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Statement |l: A body of theory is fundamental to any profession.

In light of the above statements, choose the most appropriate answer from the options given below
afley &1 weas Re sie 3 ;

werot - | 1 Ragia siged oo awsl &t gonch St 3
wverot - || @ Brora Bigin el soaan o1 g ava 8lar 3
FERE WYGll @ AIRE #, okl [§7 210 Repodl # A 993 3ugr 3= w1 aad i

[Question ID = 1547][Question Description = $2_qSNz_PG_SWK_Q99]
1. Both Statement | and Statement [l are correct/mem | 4 || Sl =t &

[Option ID = 6185]
2. Both Statement | and Statement [l are incorrect/mwam | iz 1] 23 s &

[Option ID = 6186]
3. Statement | is correct but Statement Il is incorrect/wem | =it &, e wem | =em &

[Option ID = 6187]
4. Statement | is incorrect but Statement |l is correct/mear | srer 8, Prog @emt || 3d 2

[Option ID = 6188]
Correct Answer :-
e Both Statement | and Statement [l are correct fwemr | &z || Sieif =t &

[Option ID = 6185]

5) Read the passage and answer the question given below:

It is often contended that the chief difference between a professional and a non-professional occupation lies in the element
of superior skill. The crucial distinction is this: the skills that characterize a profession flow from and are supported by a
fund of knowledge that has been organized into an internally consistent system, called a body of theory, A profession’s
underlying body of theory is a system of abstract prepositions that describe in general terms the classes of phenomena
comprising the profession’s focus of interest, Theory serves as a base in terms of which the professional rationalizes his/her
operations in concrete situations. Acquisition of the professional skills requires a prior or simultaneous mastery of the theory
underlying that skills. Preparation for a preoccupation with systematic theory, a feature virtually absent in the training of
two non-professionals, because the understanding of theory is so important to professional skill, preparation for a profession
must be an intellectual as well as a practical experience.

fBrrmferf3ae srerior @) taragde afew iz gea @r 3az St ¢

e us e Rar suen 3 5 smamnRes siiy Siv - s wraara @5 da g sioe scaaz wiora & oea 3 Bilda Sien 3 ssvagef ag a5 3

: o2l caaarr oo Ritdee wlem 3 S @ sisr A YIH iz aalkia &k 2 ol oo ardise su 21 Fer gl # Fsiisa fioen o 2, 321 forom
Rrgia over s 3 Rowht seravra o1 siafsida Brora RBigia ser swd aafarasi &t qorelt 8ift 3 = 3o afvacensii 25 asif o A orxt 3
auiol il & Freel 09 @ Ra @ &g unfde 8 2 Bigia oo smtme @ wu 3 orl @ 8, Bl eama 3 33 3¢ «<nasnRee ot Bafed & aaor
YRIeloll ) Td2dd dollll 3 SATaAIRD Siorell @ afsiel & 18 JoI Diicil @ alsiiza RBrgia &I usar 31 an ATY - 19 fOIQURT Y ol
aragery B ¥ waftie feddl v & Hendt # genellsa Brgia o1 aaRa sier enfder diar 8, srafls 31 - saraanre @ giRisrer 3 a asmst
Moquider il 8 ik cuamRie wioka @ e Brgia & waE o sieia #Aevaygyl &, safom soaarr 6 Gl difge & amer - A
sasityer seaHd slolt a3y

Given below are two statements

Statement I: Theory helps the professionals to take decisions in concrete situations.
Statement |l: Practical skills have primacy as professions are all about practice.

In light of the above statements, choose the most appropriate answer from the options given below

ahiR) &) wreror Re sie 3 ;

werel - | @ Ragia aid Brafeml i fwka de # -=rasnResi bt serm o
el - || @ =iy wivcdl & g il 3 gdifde <aaer Jo: a3 H4afim 34 3
FRTE wYell D ke A, okl By s1e RKoodl # A J93 Iugyr 303 w1 wad Gt ¢

[Question ID = 1548][Question Description = $2_qSNz_PG_SWK_Q100]
| 1. Both Statement | and Statement [l are correct/wermr | iz | <reil =t &
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Co
e« Both Statement | and Statement [l are correct/wemer | < || Joif ==kt &

[Option ID = 6189]

Both Statement | and Statement [l are incorrect /e | 87 1| 31 oo &

[Option ID = 6190]

Statement | is correct but 5tatement Il is incorrect/@erE | 78 £, feg wem | sem &

[Option ID = 6191]

Statement | is incorrect but Statement [l is correct/wem | srom 2, freg ouw || =2 2

[Option ID = 6192]

rrect Answer ;-

[Option ID = 6189]

prepp

Your Personal Exams Guide

Topic:- 05th_SET12 Shift 2_A

1)

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) 1n a city during the academic session 2020-21. There 1s a
total number of 52,000 students 1n all colleges including 27,300 students of UG level.

Based on the data 1n the table. answer the question .

College — wise percentage (%) of students at

Co]lege¢ Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

How many students of colleges A and F taken together are studving at UG level?

(1) 7516
3) 9127

g ATfeT U TR T |G 31ST-3TOR HEaaerd (A-G) A JafiER w1 2020-2021 H qEEaS ST
HrahR R o Tt o faam-vfaem (%) wag w21 27,800 qdHas W o S o wfnfad
FCh HEEeE § A SO 1 T 52,000 2| TG arfer | 99T 3 P SR W '

I T IO D0

ST T wldmadT (%)

TW-EaF | e Wi
T
A 1'7% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

AT F RS S s A el s oy W T w T 37

2)
4

8463
9404
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(1) 7516
(3) 9127

(2)
4)

8463
9404

[Question ID = 2829][Question Description = Q1_GP_Set12_51]

i

3.

4.

Co

1

[Option ID = 11313]
3.2

[Option ID = 11314]

3

[Option ID = 11315]

4

[Option ID = 11316]

rrect Answer :-
1

prepp
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[Option ID = 11313]

2)

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) 1n a city during the academic session 2020-21. There 1s a
total number of 52,000 students in all colleges including 27,300 students of UG level.

Based on the data in the table. answer the question .

College — wise percentage (%) of students at

Cﬂﬂege¢ Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

Total number of students studying at PG level from the colleges B and C taken together 1s :

(1) 5601
(3) 6669

g ATfeT UF ST T |G 31eT-3TOR HeteEner (A-G) A JafiER w1 2020-2021 ° qEas ST
HrahR R 6 it o faam-vfaem (%) v w21 27,800 qawmas w1 S ar wffaa
FCh HEIEeE § A SO 1 T 52,000 2| FETfwg arfer ® 9eW 3 % OTYR W '

I T I IO

TG ¢ Sl ! Tlmaar (%)
T-EaF | e Wi
=T
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%

(2)
4)

5944
7004
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G 15% 17%

B @1 C wiferenerdl ® Aot T I OF 919 Ued ATl faenfi 4 ge wen #

(1) 5601 (2) 5944
(3) 6669 (4 7004

[Question ID = 2830][Question Description = Q2_GP_Set12_51]
1. 1

[Option ID = 11317]
T2

[Option ID = 11318]
3.3

[Option ID = 11319]
4, 4

[Option ID = 11320]
Carrect Answer :-
a 1

[Option ID = 11317]

The following table presents the percentage (%) distribution of students of UG and PG levels
n seven different colleges (A-G) 1n a city during the academic session 2020-21. There 1s a
total number of 52,000 students in all colleges including 27,300 students of UG level.

Based on the data in the table. answer the question .

College — wise percentage (%) of students at

Cﬂﬂege¢ Perentage (%) of students at

UG Level PG Level

A 17% 8%

B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

What is the total number of UG and PG level students 1n the college E?
(1) 8320 @) 7916
(3) 0116 (4) 8372

Tr=ifeha AT UF TR T WG 31eT-3TR Heamer (A-G) A DfiER w5 2020-2021 ° qEaS HiT
HrahT WX+ frniEr o fae-utane (%) wWag w21 27,300 gEEEs W % ol wt gt
F0h TETEerl | B SE i @6 52,000 2 | Fifea afernt § vaa Se1 % SR W ‘

YT N SAK I

H?;’IE!@?FJ# Tl vl (%)

qﬁmt«imm T R T
il
A 17% 8%
12% 15%
C 11% 12%




www.prepp.in

D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

E e § TTReha TR 31T TETa %ot % Pel fa el 27

(1)
(3)

8320
9116

(2)
4)

7916
8372

[Question ID = 2831][Question Description = Q3_GP_Set12_51]

1.

[Option ID = 11324]

1

[Option ID = 11321]

ri

[Option ID = 11322]
.3

[Option ID = 11323]

4

Correct Answer :-

1
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[Option ID = 11321]

4)

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) 1n a city during the academic session 2020-21. There 1s a
total number of 52,000 students 1n all colleges including 27,300 students of UG level.

Based on the data 1n the table. answer the question .

College — wise percentage (%) of students at

Co]lege¢ Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

What is the ratio between the number of students studying at PG and UG level respectively

from the college F?
(1) 14: 19
(3) 17:21

g AT UF YR T WG 31ET-3TO Heamerd (A-G) A JafiER w 2020-2021 ° qEaES SN

HrahR R 6 Tt o faam-vfaea (%) wag w21 27,800 gdHas @R o o wffaa
FCh HEIEeE § A SO0 1 T 52,000 2| FETiwG arfer | 999 39 % SR W '

I T I IO

ST 6wl (%)

& -7
T

‘waa%ﬁtw

@)
4

19: 21
19: 14
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A 17% 8%

B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
E 14% 21%
G 15% 17%

F Aziferarer 8 Sesiet TR W TgH arel faateri $1 g 3K g4 Tae Wl W 9ed are et &
TEAT * S 6T FH: U 2

(1  14:19
@ 17:21

@)
4

19: 21
19:14

[Question ID = 2832][Question Description = Q4_GP_Set12_51]

1.1

[Option ID = 11325]
2. 2

[Option ID = 11326]
3.3

[Option ID = 11327]
4, 4

[Option ID = 11328]

Correct Answer -
s 1

[Option ID = 11325]
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The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) 1n a city during the academic session 2020-21. There 1s a
total number of 52,000 students 1n all colleges including 27,300 students of UG level.

Based on the data 1n the table. answer the question .

College — wise percentage (%) of students at

Co]lege¢ Perentage (%) of students at

UG Level PG Level

A 17% 8%

B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

What is the ratio between the number of students studying at PG level from the college F
and the number of students studying at UG level from the college D?

(1  13:19
(3 13:8

g ATfeTh UF ST U |G 31ET-3TeR HeiEner (A-G) A JafiER w1 2020-2021 ° qEEES ST
Hrah R Tt o faam-vfaem (%) g w21 27,800 qdHmas w1 o e wffaa
FCh HEIETeE § B SEH 1 FE 52,000 2 | FEnfRg oo ® 99T 3 % TR W '

3]
@

21:13
19:13
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ITH T IO IS

Terfage™ ¢ SHE ! TfqTaar (%)
TW-EaF | EaE Wi
T
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

F wafaemed § S &R W W ar et i aem ot D weidaed § 9 &@-F e T W e
aret fernfelat <Ry g & o = sTE 2

(1) 13:19 (2 21:13

@ 13:8 4 19:13

[Question ID = 2833][Question Description = Q5_GP_Set12_51]
1. 1

[Option ID = 11329]
2.2

[Option ID = 11330]
3.3

[Option ID = 11331]
4, 4

[Option ID = 11332]
Correct Answer -
s 1

[Option ID = 11329]

Topic:- 05th_SET12 Shift 2_B

C Which of these 1s not related to podcasting?
(1) Audio (2) Spotify
(3) Microphone (4) Microsoft excel
ftfetfian § O =i qigspieeT © gaitg A8 g7
1)  swfe @) T
(3)  HEHEH (4) TEHEER EEA
[Question ID = 2834][Question Description = Q06_GP_Set12_51]
1. 1
[Option ID = 11333]
7
[Option 1D = 11334]
3. 3
[Option ID = 11335]
4. 4

[Option ID = 11336]

Carrect Answer :-

s

[Option ID = 11333]
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2) Identify the examples of Active learning :

(A)  Students discuss. debate or brainstorm during class
(B) Students work as team on problems and projects

(C)  Students engage 1n inquiry based learning
(D) Students are exposed to case-based studies.

Choose the most appropriate answer from the options given below :

(1) (A only (2) (A). B) and (D) only
3y (A, (C)and (D) only (4) (A and (D) only

TFATHieT I % Fareon i Year Hie

(&) = % 2o Teramff ==, el st frmuEm = ¥

B) el avemst 9 wEsEeT R TS AW F w9 0 R |
(©  Temnofi sitm smenfa it o gerd =i £

D) Frndt Fm onuaiE 95 ¥ 99T B 2 |

= o o feregi | © we Suges It 1 =Ee i

1) wEE (A (2) T (A), B) 3R (D)
(8  FaE (A), (C) it (D) (4) =ad (A) IR (D)

[Question ID = 2835][Question Description = Q07_GP_Set12_51]
1. 1

[Option ID = 11337]
2. 2

[Option ID = 11338]
3.3

[Option ID = 11339]
4. 4

[Option ID = 11340]
Correct Answer -
a 1

[Option ID = 11337]

3)
According to the stages of cognitive development suggested by Piaget, the earliest period is
called as :
(1) Formal operational (2) Exstenfial
(3) Sensori motor (4) Verbalizer

iRl SR FHTC T BACAS fSRTE o TSRO o STTAR TR il Wl et el =l 8

(1)  tu=nfos afFaces @ e
(8 TId TR (4) TraEn faas (FEeER)

[Question ID = 2836][Question Description = Q08_GP_Set12_51]
1.1

[Option ID = 11341]
2. 2

[Option ID = 11342]
3.3

[Option ID = 11343)]
4, 4

[Option ID = 11344]
Correct Answer :-
a1

[Option ID = 11341]
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4)

Given below are two statements :

Statement I: A blended course i1s a traditional course of 1nstruction incorporated with
online materials and / or intermittent online discussion.

Statement IT : A wiki is not a representation of a collaborative tool and website where users
assigned 1n groups can create content collaboratively and where a teacher
can monitor their work.

In the hight of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II is correct

g 2 =y feu o 2

w1 @) : o fulaa sig=ma v uls eI yigmwa 2 o stHens weft sti/sver wferm

AT ==t affm 6 w2

%M (I : 5 T8 T5pi I 3 I9ERe W UeY TE 2 Wel 999 § T ger ® e

T S T 7 SR STEl ATAE ST B ] A F TR F

IR I F IEAH H, 9 13 T el 3 U ga I I o kil

(1)
2)
(3)
€))

FR IR I T 8 |
Fu I 3tk IL 29 7o 2 |
Fo 1 T8 2, st = IL 7o 2 |

o [ 7era 2 fohg 97 LA 2|

[Question ID = 2837][Question Description = Q09_GP_Set12_51]

1. 1

[Option ID = 11345]

2. 2

[Option ID = 11348]

3.3

[Option ID = 11347]

4, 4

[Option ID = 11348]

Carrect Answer :-

s 1

[Option ID = 11345]

Modeling 1s a direct teaching activity that allows students to imitate from demonstration or
infer from observation, the behaviour to be learned. Identify the correct sequence for
modehng.

(A) Production

(B)  Attention

(C) Motivation

(D) Retention

Choose the correct answer frrom the options given below :

1 @), B).©O. D @ @®.D). . ©
3 (©C) ). D), B @ (B). @A), ©). D)
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Your Personal Exams Guide



Www.prepp.in .repp

Your Personal Exams Guide

TleEgu] U UMY Wega 1A Tiatae # e fammei g S et sraer A 9esE d Ao 319en YEur o
SHHT A O T 2 | T =g Ta1 319%A il vEam i

(A)  Im
® ==
€ ™
D)  widaw

Hi=r fau v ferpeat § & w8 SO =1 @=A Shifaw

1 @) ®)©). D) @) (B, D), A). (O
3@ ©.". D). B @ ®. @A), ©C).D)

[Question ID = 2838][Question Description = Q10_GP_5Set12_51]
1. 1

[Option ID = 11349]
2. 2

[Option 1D = 11350]
3 3

[Option ID = 11351]
4. 4

[Option ID = 11352]
Correct Answer :-
a

[Option ID = 11349]

6)
A prediction regarding ‘relationships involving theoretical constructs” 1s known as :
(1) Directional hypothesis (2) Relational hypothesis
)] Conceptual hypothesis (4) Operational hypothesis

“tgifem ffifa anct el & gatgae =1 fy =0 | S S 3

(1)  TEmRE T Q) HEUTEF TEFH
(3)  TFCUIITF YTEFHT (4) TEETEEH] TR

[Question ID = 2839][Question Description = Q11_GP_Set12_51]
1, 1

[Option ID = 11353]
2. 2

[Option ID = 11354]
3. 3

[Option ID = 11355]
4, 4

[Option 1D = 11356]
Carrect Answer :-
* 1

[Option ID = 11353]

7)
A variable not described by a predictor 1s called :
(1) Exogenous variable (2) Non-Predictive variable
(3) Effect variable (4) Manipulative variable

IR g it AE foRe Ty =k i fetfad e S

e A B e st Do N RN
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\L) MIA Y V&) IS YFTHTICAT A
(8) U9 = (4) FTEIE W
[Question ID = 2840][Question Description = Q12_GP_Set12_51]
£
[Option ID = 11357]
g
[Option ID = 11358)]
3. 3
[Option ID = 11359]
4. 4

[Option ID = 11360]
Carrect Answer :-
* 1

[Option ID = 11357]

%) The ethical considerations in research include :
(A) Free copying from books and journals
(B) Informed consent
(C)  Avoiding plagiarism
(D)  Proper referencing
(E)  Privacy as an insignificant issue
Choose the correct answer from the options given below :
(D (A). (B), (C) only (2> ®B). (C). D) only
3  (C), (D). (E) only 4 (A, (D), (E) only
Iy | e e 4 e e 2 -

(A) YTl T 9REeH O gell A

B) gtuw gEAld
(©) ot 9/ & s=
@) 3faa gail

(B) fFaar-w= ¥ =i qqg

= f2u 7o frepedl 8 © w8 ST 999 File0

() F=a (A), (B), (O) 2 Faa (B), (C), D)
(8) =maa (C). (D). (E) @) Faa (A). (D). (E)
[Question ID = 2841][Question Description = Q13_GP_Set12_51]
1. 1
[Option ID = 11361]
Lo
[Option ID = 11362]
3. 3
[Option ID = 11363]
4. 4

[Option ID = 11364]
Carrect Answer :-
* 1

[Option ID = 11361]
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Given below are two statements :

Statement [: Reflexivity refers to the manner in which speech and action are part of the

social world in which they are situated.

Statement IT: The term ‘reflexivity’ 1s a shippery concept because of For and against’

arguments, and also because of different meanings.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s true but Statement II is false

(4) Statement I is false but Statement II is true

i 3 P g e

o (I): Sl (fefFafad) =1 gwa 3 dfa o 2 Bt a3 T 5o gmifss g < am
2 Tomm = araferm 2

w0 () : ‘IatEacadal OF TFEer 90 THoT ¢ 9Eith 9% 99 9 fOud I IR F o § AN
firm-fir 1 ofi 21

Ui YA AT 4, S92y e et 3 O v s W e A

(1) =@ IHAR A oea £ |

@) FE IR I 95A 2 |

(8) Fu Iuea 2, A o= 1L sEaeT 2|

4 =FFlowE: A aRIIaEs]

[Question ID = 2842][Question Description = Q14_GP_5Set12_51]
11

[Option ID = 11365]
2. 2

[Option ID = 11366]
3 3

[Option 1D = 11367]
4. 4

[Option ID = 11368)]

Correct Answer :-

LI

[Option ID = 11365]

10)  Natol List T with Tist 11

List I List IT
Statistical test Application
(A) Chi— square (I) Is used to determine the significance

between group means.

iPY $ —tact MM A nrneasdimre +n decomnnse tramation
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into two or more independent
variables.

(C) ANOVA (III) Analyses the relationship between two
or more independent variables and a
single dependent variable.

(D) Multiple regression (IV) Produces a value that reflects the
relationship between expected and
observed frequencies.

Choose the correct answer from the options given below :

@O @D, B-AD. ([O-11ID. O)-AV)
@) A)-AD. B)-11D). (C)-AV). D)-D)
(3) A1, B)-AV). (O)-M. (D)-AD
@  @A-Iv), ®)-0, (O-dD). (D)-IID

i1 =i g=i-11 & gufsa Fifg
i1 gi-IT
wifeah glieo T
(A) =TS ¥=hat (Chi — square) @) =UH VAT THE WEAAl k AST % WEd
Futor % e fen s 2
B) ti= A fafaas = @ = st = =0 3 Geka
0 A gl
(C) TAET (ANOVA) AID 3 T s =T =0 St T W W ®
&9 F HEY AT A B
D) =g e (AV) T Wou H Seara w2 W eruiea 3 uig
ITfierar % TEY & 3wl 2
4 & Rreeeat A © wd s g

(1) {A)"(Ds (B)_{IDr (C)'(IH)- (D)_{IV)

(2) (A)-AD. (B)-(I1D). (C)-(IV), (D)-(D

(3) (A)-d1I), (B)-IV), (C)-D). D)-1D

@  A)-av), @)-@, (©)-amn, (D)-I1D)
[Question ID = 2843][Question Description = Q15_GP_Set12_51]
1.4

[Option ID = 11369]
Lok

[Option ID = 11370]
3.3

[Option ID = 11371]
4. 4

[Option ID = 11372]
Correct Answer ;-
« 1

[Option ID = 11369]

‘Do not expect to have everything buttoned up in your mind before hand’. This 18 very much
true in the context of :

(1) Article writing (2) Delivery of speech
(3) Conducting on interview (4) Supplying backeround information

‘Tedl W B o RumT § wi <A % stgetia B9 I s ma @i |

Tz foF w + forege @ 27

1) g dma (2)  HTYOT &

(8) IR T (4) YBYHM FEA ST FA
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[Question ID = 2844][Question Description = Q16_GP_5Set12_51]

1.

1

[Option ID = 11373]

2

[Option ID = 11374]

3

[Option ID = 11375]

4

[Option ID = 11376]

Correct Answer :-

a 1

[Option ID = 11373]

A persuasion plan of an educational communicator involves :
(A) Sequencing of 1deas

(B) Repeated emphasis

(C)  Choice of words

(D)  Reference line

(E)  Personalisation of issues

Choose the correct answer from the options given below :
1 A, (), (D) only 2y Q. B, (C)only
3) (B, (). (D) only @) (C). (D), (E) only

F Nl Seres i gearEd g | aihtag #

(A)
B)
(©)
@)
(E)

f=m =1 St
I 9

gl G

Ty @
THEIS T SRRl

= fau 7 erebeui A o @t 39T =1 = il

(1)
(3)

Faqd (A), (C) 3R (D) (2) FaF (A), (B) 3R (C)
%ae (B), (O) 3 (D) 4) A (C), (D) 3N (E)

[Question ID = 2845][Question Description = Q17_GP_Set12_51]

1.

1

[Option ID = 11377]

s

[Option ID = 11378]

sl

[Option ID = 11379]

4

[Option ID = 11380]

Carrect Answer :-

e

[Option ID = 11377]

13)

Given below are two statements :

Statement I: Frames can be a causal factor in decoding educational information.

prepp
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Statement Il : The social background of the learners also influences their frames.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement IT is true
A 7 % e e E
F (D :  alres gearenl % Ferae § A (F9) Th SFGEIs $HF 5 Tehal 2 |

%o (D) : el =i arnfoms goyfy ot 93igen (n) =0 it wnfam i 2 |

SRR FUT F ST |, 9 & o e 1 8@ w8 SR W 99 i

(1) =wEIlawIladoa? |

(@  FF 1 I3 o9 & |

(8  wu 1Tw 2, AT B9 I 18 2 |
(4 oA I 3w 3, wife wue ILaey 2

[Question ID = 2846][Question Description = Q18_GP_5Set12_51]
R

[Option ID = 11381]
2. 2

[Option ID = 11382)
3. 3

[Option 1D = 11383]
4, 4

[Option ID = 11384)]
Correct Answer :-

LI

[Option ID = 11381]

The sequence of steps in orgamzing written material for communication 1s :
(A) Read over

(B) Evaluate

(C)  Jot down points

(D) Construct an outline

(E) Describe

Choose the correct answer from the options given below :
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AR

A4)

(B)

©)

(D)

(E)

1) (A B). (C). D). (E) 2 (©O. W, B). D). [E)
@ (O D). A, E). B @) (B). &), D). E). ©)
=g Toftea wrwft & =rewefit 9 = £ 4 2

w-ved (fg #AR)
AT

ues femgst = foremn
T @ AT

T FHEA

= fau 7o fomedi 8 4 9f T #1929 Fifvg

(1)
3

(A). (B), (C), (D), (E) 2) (©). (A). B), D), (E)
(€). (D). (A). (E). (B) @ (B). @), D). . ©

[Question ID = 2847][Question Description = Q19_GP_Set12_51]

1

&

1

[Option ID = 11385]

2

[Option ID = 11386]

ik

[Option ID = 11387]

4

[Option ID = 11388]

Correct Answer -

LI

[Option ID = 11385]

B)

Match List I with List IT :
List I List IT
Models of communication Characteristic feature
(A) Mathematical model (I Perceiving
(B) Circular model (II) Global village concept
(C) Medium — centric model (III) Linear
(D) Selectivity model (IV) Decoder becomes encoder

Choose the correct answer from the options given below :

1)  A-AD. B)-(IV). (O)-D). (D)-ALD
@  @O-aAV). ®-O. (O-1ID). (D)-AD
3 @O ®-aD. (C-dID, M)-aV)
@  A-I), (B)-IV), (O)-AD. D)-D

g1-1 % Ty -1 1 e Hifore
I -1
G9R % wiaH fersi zream
(A)  TIEE wigaE @  AF9E

CRiEBSIGLIE! aD) fava-um F%een
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(C) weH-hied Tfaam IID
D) TEATEE FioAH (IV) FeFmiaT FEHES & ST 2 |

Fra i o fereul 7 O 99 SO F 999 i

1)  A-AD. B-IV), (CO)-@. (D)-dID

@  A-aAV), B)-@). (C)-I1I). (D)-AD)

3  A-I@. B)-AD. (C)-dID), (D)-AV)

@D (A)-(I1D). (B)-(IV). (C)-dD, (D)-D
[Question ID = 2848][Question Description = Q20_GP_Set12_51]
1. 1

[Option ID = 11389)
Ll

[Option ID = 11390]
3.3

[Option ID = 11391]
4. 4

[Option ID = 11392]
Correct Answer ;-
e 1

[Option ID = 11389]

Six bells commence tolling together and toll at intervals of 2. 4, 6, 8, 10 and 12 seconds
respectively. In 30 minutes, how many times do they toll together?

1 4 (2 10
3) 16 4 20

T: BieAl Teet T WY WS YT FT B R HEE: 2, 4, 6, 8, 10 3R 12 HUs F e WSl 3 |
7T 30 i ° 4 v oy Freet o st 7

1 4 @ 10
3 16 (4 20
[Question ID = 2849][Question Description = Q21_GP_Set12_51]

1, 1

[Option ID = 11393]
)

[Option ID = 11394]
3. 3

[Option ID = 11395]
4. 4

[Option ID = 11396]
Carrect Answer :-
* 1

[Option ID = 11393]

Cost price of two mobilephones i1s same. One 1s sold at a profit of 30% and the other for
6300 more than the first. If the net profit is 40%. Find the cost price of each mobile.

(1) 42,500 (2 50.000
(8 25,500 @ 31500

2l BETSA B FeT AE 3 | T h 30% @1E U s T 31 g R Tge | 8, 6,300/ e HiHd 9w

ST T | 3R B o 40% 3 A e Hisige B HEged a9 8 ¢

(1) 42.500/- (2) 50.000/-
3) 25.500/- (4) 31.500/-

[Question ID = 2850][Question Description = Q22_GP_Set12_51]
1. 1

[Option ID = 11397]
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| 2. 2

[Option ID = 11398]
3.3

[Option ID = 11399]
4, 4

[Option ID = 11400]
Correct Answer -
a1

[Option ID = 11397]

Consider the following statements regarding clocks :
(A) When the hands are in opposite directions, they are 30 minute spaces apart.

(B) The hands are in same straight line when they are co incident or opposite to each
ather.

(C) If a clock indicates 8:45, when the correct time is 9:00. it 1s said to be 15 minutes too
fast.

Choose the correct statements from above :
(1) (A and (C) only (2) (B)and (C) only
(3) (A and (B) only 4 (A). (B) and (C)
afeat o wey § Feteiaa s W faem Fit -
Q) v gt o gE o Tl feon 3 2 8, 9 30 fiee % s i g w a2
B®) @ gAt T gAw o e 9 =i 3 Al 7oAl A T W 5 3 A T gEl B o e 1 |

(C) TR % =i 8 : 45 == % U979 Wil 2 & ol ¥99 9 : 00 &= 2 91 77 15 fime sumey o =
& wEerar 3 |

1< 30 7o feet 0§ OE I o = i
() FF9 (&) 5R (C) @ Faa (B) 3R (O)
(3) FaA (A) 3R (B) 4 (A), (B) 3w (C)

[Question ID = 2851][Question Description = Q23_GP_Set12_51]
i

[Option ID = 11401]
Z. 2

[Option ID = 11402]
3.3

[Option ID = 11403]
4, 4

Carrect Answer :-

e 1

[Option 1D = 11401]

13) In how many years will a sum of 800 at 10% per annum compounded semi annually become
926.107
(1) 5/2 years (2) 3/2 years
(3) 2/3 years (4) 4/3 vears

e ot o 5. 800/- i Ui 10% i =, srdantier wspafy = i o @ 5. 926.10 7 swfi 7

11 R 9% U ad
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[Question ID = 2852][Question Description = Q24_GP_Set12_51]

1.1

[Option ID = 11405]

2. 2

[Option ID = 11406]

s

[Option ID = 11407]

4, 4

[Option ID = 11408]

Carrect Answer :-

* 1

[Option ID = 11405]

Given below are two statements :

Statement I: If a person covers a certain distance at x kmph and an equal distance at

; ; . (x+
4 kmph. Then. the average speed during the whole journey 1s [ 5 2 }kmph.
Xy

Statement IT : If the ratio of the speeds of x and y 1s a:b, then the ratio of the respective
time taken by them to cover the same distance 1s b:a.

In the light of the above statements, choose the correct answer from the options given below :
(1) PBoth Statement I and Statement I1 are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

F:F I): PR TF HAla T Afvad g x /g B 1 8 qu e 2 ool wam g i

SRR R, o i B e [2”)%.&%@%.
XY

FA (II) : 3R x 31 y H7 7fq #1 o794 a : b 3, @ 99F g @1 F@ § 396 g0 g T @ F

I biad|

ST YT T ST H, 4 B T fmew § 9w 3w W =2 fie

(D
2)
(3)
4

Fu 1 3R I 21 93 3 |
FyA 1 317 11 21 279 2 |

F [ 59 2, SFF %9 11 578 2
FY [ HA5e 2, e o I 8e 21

[Question ID = 2853][Question Description = Q25_GP_Set12_51]

1.1

[Option 1D = 11409]

L 2

[Option ID = 11410]

323

[Option ID = 11411]

4. 4

[Option ID = 11412]

Correct Answer -

LI

[Option ID = 11409]
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21 . . . . c
) “Environmentalists accuse us of blocking the plan to convert Antartica into a World park. In

fact nothing could be further from the truth. Antartica i1s a huge continent teeming with hife.
It is home to millions of penguins, seals, seabirds and sea lions. Also great schools of finfish
and whales inhabit its coastal waters.”

Which fallacy is committed in the above argument?

(1) Red Herring (2) Strawman

(3) Hasty generalization (4) Shppery slope

‘AR, 7 serbteE W fava-sam § uiafia w9 A Ae 8 U9 W 99 & 3| aRad # 36w
IUF WA T AR TEl o THAT | SVEEHCH AET F AAIG TF sgd wgl Heey 2 | Fe Al W,
e, agdi-ufit siiv sefe! = = 2 | s 3 2t B TR 9ST e 39 92T S ° e

Eciiea

ITFT AfFT H AT AT W 5 BT

Q1) = Q) =i
(3) = e (4) Traul v

[Question ID = 2854][Question Description = Q26_GP_Set12_51]
1. 1

[Option ID = 11413]
2.2

[Option ID = 11414]
3.3

[Option ID = 11415]
4. 4

[Option ID = 11416]
Correct Answer ;-
a 1

[Option ID = 11413]

Consider the seres “tiger, feline, mammal., animal’. Which of the following statement/s
1s/are true with reference to this series?

(A) It 1s in order of increasing intension
(B) It is in order of increasing extension
(C) Itisin order of decreasing intension

(D) It is in order of decreasing extension

Choose the correct answer from the options given below :

(1)  (A)and (D) only (2) (B)only
(3) (B)and (C)only (49 (D) only

“gma, faoma, wRud, 77 3@ JEen W feR fifw o Sawy 55 39 Juen % gl § et § #
T B T 27

&) 7 T % d A A R

B TEMGFIEAAAL

(€ T HadFEE A

D) T oufed % ued wH 4 B |

4= fiu T et § 9 o o % 99 i

()  =aa (A) 31 (D) 2 Fa= (B)
3)  aw (B) 3R (C) 4) = (D)
[Question ID = 2855][Question Description = Q27_GP_Set12_51]
1. 1

[Option ID = 11417]
2. 2

[Option ID = 11418]
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| Tl

[Option ID = 11419]
4, 4

[Option ID = 11420]

Carrect Answer :-
* 1

[Option ID = 11417]

Given below are two statements :

Statement I: The example (uddharan) 1s a special feature of the Nyaya syllogism and it
illustrates the truth that the universal major premise is the result of a real
induction.

Statement II : Induction in Nyava conception of inference is based on the law of causation
and induction and deduction cannot really be separated.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II 1s true

= & g fju e g .

Fu () :  —E-v i Agga fammar Sermw’ 2 o 9w T@ 9T ol wieer W Har 2 5 aesiifas
TEA YR a9 dreatash TTHA o 9100 2 |

FF (I1) : 2A9H i F=aEs Faanon § Arma FE - 9 = FEm o et 2 it amme sl
e = T8 Tt | oTenT TE R S O & |

I FIF F e 8, Ao 7o femen § ¥ 78 T = = il

(1) =E IR 7 2 |

(2)  »u Il I gA swe 2 |

(8)  ®UA 19 2, iftd w9 1T 318 2

(4) % I 39 2, dfed w9 IO 2

[Question ID = 285%6][Question Description = Q28 _GP_Set12_51]
1. 1

[Option ID = 11421]
2.2

[Option ID = 11422]
3.3

[Option 1D = 11423]
4. 4

[Option ID = 11424]
Correct Answer -
a 1

[Option ID = 11421]

24)  Given below are two statements :

StatementI: An argument form that allows for a substitution instance having true
premises and a false conclusion is an invahd form.

Statement I : Any arguments having true premises and a false conclusion i1s an mvahd
argument.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1s true but Statement I is false

(4) Statement I 1s false but Statement II is true

e g o fgg e E
o (I): TR qFa wET A1 oF gfaeera s At Sar g S ger snaw et o s e e
F HTHI B 97 7Y TET Z7I

o (D) : o i fomd moy st g qan smer e g, o s gie 2
I I = A ¥, 19 e e et § O g sW W = Hitu
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(1) =wFEIMRIOIA AL |

(2 w1 I A oo # |

(3) wu IT 2, | % I 3@ 2 |
(49 TR IAEE:E, A FE a2

[Question ID = 2857][Question Description = Q29_GP_Set12_51]

g

1

[Option ID = 11425]
2

[Option ID = 11426]

s

[Option ID = 11427]
4

[Option ID = 11428]

Correct Answer :-

e

[Option ID = 11425]

prepp
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All animals with such and such features are either bisons or buffalos.
This amimal has those features and it 1s not a bison. Therefore it 1s a buffalo.

According to Nyaya school this argument exemplifies which one of the following pramanas

(instrument of knowledge)?
(1) Upamana (Comparison) (2) Sabda (Verbal authority)
(3) Arthapatti (Postulation) (4) Anumana (inference)

-3 TIemet & WY TR SR 31 O T 3 A1 96y |

T I % U o fgmand £ oilk aw mae 98 2 safee gz ofiw 2

I YITET % SR T i gE gRI Feited § O e wEmn (S s Suem) 0 omew 8 7
1y A (2) =ma
(3) UM @) A

[Question ID = 2858][Question Description = Q30_GP_Set12_51]

F.

2

3

4,

1

[Option ID = 11429]
2

[Option 1D = 11430]
3

[Option ID = 11431]
4

[Option 1D = 11432]

Carrect Answer :-

s

[Option ID = 11429]

The Campus Wide Network in a University includes a firewall. Which one of the following is

a firewall used for?

(1) Deleting data from a network
(2) Restricting access to a network
(3) Enerypting network data

(4) Collecting transactional data
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o fegataaem 8 afer-farga-2as § ®rR 979 aisfm e 2| Fefatae 3 9 G & fom o aia

=0T T ST 27

(1) TF 42T ¥ =21 57l w0 & fog
(2) U 29 o UgNY Aiid % % O
(3) 9% 22 T Wi wH % o

(4)  THIEE 32T U B F o

[Question ID = 2859][Question Description = Q31_GP_Set12_51]

1.

1

[Option ID = 11433]

2

[Option ID = 11434]

S

[Option |
4

[Option |

D = 11435]

D = 11436]

Correct Answer -

D = 11433]
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* 1
[Option |

27)
Re

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

ason (R) :

Assertion (A): A bitmap file format ( BMP) is not suitable for graphics on a website.

Reason (B) :

In the hght of the above statements, choose the correct answer from the options given below :

(1)
(2)
(3
(4

(pixel) making up an image, thereby giving quite large files.

Both (A) and (R) are frue and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 15 false but (R) 1s true

= g1 e oy e 2 - o iR (Assertion A) % w9 | fofaa ® @1 g0 6% w01 (Reason R) &

EQ'EI
AR (A) : o Tty wee ©ine (Shoua.di.) dewEEe | i & o saEa TEH R
=0 (R) fseiu itk v Sisfamem fierr ofemde (fioaw) % R 4 SRl Thitm e 2

U ST S 5U, FuE o wiEe 59 2 |

SR P F T H, T G0 T Eeredl § d Hed SUhT IR B A i

(1)

(2

(A) 3R (R) I T3 3 31 (R). (A) F1 781 == 2|
(A) 31T (R) 3AT a2 @ifid (R), (A) it wdt =ameen 5 2 |

Bitmap graphics store information about every individual picture element
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(3) (A) T & o (R) 3153 7ol & |

(4 (A) e TE & df (R) T B

[Question ID = 2860][Question Description = Q32_GP_5Set12_51]

1.

2.

3

4.

1

[Option ID = 11437]
2

[Option ID = 11438)]
3

[Option ID = 11439]
4

[Option 1D = 11440]

Correct Answer :-

L

[Option ID = 11437]

Identify the correct order of the following computer storage devices in order of speed of data
retrieval from fastest to slowest.

(A) Hard Disk
(B) Main Memory
(C) CD-ROM

Choose the correct answer from the options given below :

(1) (B). (C). (A) 2 (©.A). B
3 (A ©) (B) 4) (B). (A), (C)
o a9 § wew iy S fRme A 1fa % ww 4 Frofafen wie S (FEm) F @ w1 w
TEEIT
A IE R
B) = A

© HE-wms
= e 7o el 4 o WE 39 @ =EE Hif

D  B.©). A 2 (O. @A), ®)
3 A, 0O, [ @ B).A),©)

[Question ID = 2861][Question Description = Q33_GP_Set12_51]

1.

1

[Option ID = 11441]
2

[Option ID = 11442]

o

[Option ID = 11443]
4

[Option ID = 11444]

Correct Answer :-

e

[Option ID = 11441]

(Given below are two statements :

Statement I: A copy of the email 1s sent fo a Ce (Carbon copy) address and other recipients
can see that address.

Statement IT: A copy of the email is sent to a Bec (Blind carbon copy) address but other
reciplents cannot see that address.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
)] Statement I 1s true but Statement IT 1s false

(4) Statement I is false but Statement II is true
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w0 () : T -4t 6 wafaf v @i (eem ) & vd w9t i st Wit <o o = 3
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[Question ID = 2862][Question Description = Q34_GP_Set12_51]
1.1

[Option ID = 11445]
7.2

[Option ID = 11446]
3. 3

[Option ID = 11447]
4, 4

[Option ID = 11448]

Carrect Answer :-

s

[Option ID = 11445]

30)  Which of the following file format contains exclusively the ASCII file format?
(A) PDF
®) RTF
(©) JPG
D) Csv
(E) TXT

Choose the correct answer from the options given below :

(1)  (A). (B) and (D) only (2) (B). (D) and E only

3 (A (C)and Donly 4 (C), (D) and E only

frerfafga § @ =1 wee T2 Fevdaa vom o 8. TiEd BiHe W@l 27

@A) 93T

B AT

© =,

@®) HeEA

E) duwmd

H= f= i d W WS SR A = i
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#ad (A), (B) &R (D) 2 =9 (B), (D) 2R (E)

Fas (A), (C) 3 (D) (4) Fa@ (C), (D) 3R (E)

[Question ID = 2863][Question Description = Q35_GP_Set12_51]

1.

3.

1

[Option ID = 11449]
2. 2

[Option 1D = 11450]

3

[Option ID = 11451]
4. 4

[Option ID = 11452]

Carrect Answer :-

* 1

[Option ID = 11449]

Millennium Development Goal 8 — “To develop global partnership for development” has the
following targets :

(A) To address special needs of least developed countries.

(B) To halve by 2015 the proportion of population without sustainable access to safe
drinking water and basic sanitation.

(C)  To deal exhaustively with debt problem of developing nations.

(D) To provide access to affordable essential drugs in developing world in collaboration

with private sector.

(E) To have significant improvement in the lives of 100 mn slum dwellers.

Choose the correct answer from the options given below :

1) (A). (0. (D), (E) only 2 @), (C), (D) only
3)  (C). (D). (E) only 4 (B, D), (E) only

Trerdl e weE-8- ‘famm ag dAftas AneErl Aeia w=en = ik e 2

(A)

(B)

©

)

(E)

gay w9 Tawita 2o Hi ey sTavasden 9 eI o |

2015 T, TF VA T IR A TSl O GROE Ugd 5 S SFESA % ST9G T 3TT H)

Terraefter ot 1 =l 1 THEN * WY FEg TH W FER HE)
sl &t = weam & femefie g 1 ¢ @ 2 sTaTT gasdl oF Yad Y8H B |

100 faferm gl Fenfem <+ Sfem 3 gRwager guw @ |

A= fou 7u Rrepedt O o Tt St = 9= il

(1)
(3)

Fad (A). (O). D), (B) (2 F9 (A (C). (D)
Faa (C), (D). (B) 4) Fae (B), (D), (E)

[Question ID = 2864][Question Description = Q36_GP_Set12_51]

F:

1

[Option ID = 11453]
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[Option ID = 11454]
3.3

[Option ID = 11455]
4, 4

[Option ID = 11456]
Correct Answer -
a1

[Option ID = 11453]

Ozone layer depletion 1s on account of ;

(A) Chlorinated hydrocarbons

(B)  Sulphur containing compounds
(C)  Carbon monoxide

(D)  Nitrogen containing fertilizers

Choose the correct answer from the options given below :

@ A). (), (D) only @ @), ®), ©), D)
3 @).®B), (C)only 4 (A). (D) only

I TR & % BT 7 |
Q)  FEiEes TEgeEA
B) HTw I AT
(C)  =heH HIHIFHIES
(D) -ﬂs{fhn-i T SATH

Hr T4 7 fommoul 0 @ 98l I 1 =9I hiftay

1) wEFALOO (@ @A), B () iR D)
@ A Q). B®IREC) (@) Fad (A) I (D)
[Question ID = 2865][Question Description = Q37_GP_Set12_51]

1.1

[Option ID = 11457]
2. 2

[Option ID = 11458]
3 3

[Option ID = 11459]
4, 4

[Option ID = 11460]

Correct Answer :-
a 1

[Option ID = 11457]

33) High values of which of the following parameters indicate good-quality water?
(1) Dissolved oxygen (DO) (2) Chemical oxygen Demand (COD)
(3) Biochemical oxygen Demand (BOD) (4) Conductivity
Fr=fafae v 3 @ f5ra % 3= ofom 5@ 1 == e giEa w87

(1)  Ten 3 siEen (fEeieas sfadiom) () HirFa Al fEas (d.an.d)
(8)  wHTHRERe eTwiee feure (=f.er. €. ) (@) =T
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[Question ID = 2866][Question Description = Q38_GP_5Set12_51]

14

[Option ID = 11461]

Lok

[Option ID = 11462]

i

[Option ID = 11463]

4. 4

[Option ID = 11464]

Correct Answer :-

L

[Option ID = 11461]

Arrange the following solar cell base materials 1n order of their Band gap energy :

(A)
B)
(€
D)

Silicon (S1)

Germanium (Ge)

Gallium Arsenide (Ga As)
Cadmium Sulphide (CdS)

Choose the correct answer from the options given below :

ey
3

Q=B =D)= () 2 A=>=®=O)=D)
D)= ©)=A@=>® @ DO=W=O=0B

Ffifiga dier e o9 wefere (Wi =ifie snarfauard) =0 39 o3 v el % angr v sqaiyd

HITT -

@) fafwwa (Si)

B) T (Ge)

(C) FieEm TEAES (Ga As)
@) efiem FewEs (CdS)

9 fiu U frpea § ® @E ST F 999 HIT ;

(1)
(3)

&)= (B)>D)>(C) 2 W@>B®=O0=>0)
D) = (C)=> (A) > (B) @ M>@)=>(©C)>>B)

[Question ID = 2867][Question Description = Q39_GP_Set12_51]

P |

[Option ID = 11465]

i

[Option ID = 11466]

30

[Option ID = 11467]

4, 4

[Option ID = 11468]

Carrect Answer :-

s

[Option ID = 11465]

35)

The National water mission under climate Action plan of Government of India seeks to

1mprove water use efficiency by :

ey

10% 2y 20%
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() sU% (@) bU%
R GORR  SeAar] HP AT % STt U e (9eE, Sl S SAdl B gl
GURAT =151 2 |
Q) 10% @ 20%

3 30% @ 50%

[Question ID = 2868][Question Description = Q40_GP_Set12_51]
1.1

[Option ID = 11469]
2. 2

[Option ID = 11470]
3.3

[Option ID = 11471)
4, 4

[Option ID = 11472]
Correct Answer :-
a 1

[Option ID = 11469]

36
) Who 1s the Visitor of all the Central Universities?
(1) Education Minister of India (2) UGC chairman
(3) The President of India (4) The Chief Justice of India

it Fr Rreafremt =1 parena (Rfe) = 27

(1) o R @ 7 H sea
(8 9% % g (4 ¥Rd % GG =Endw
[Question ID = 2869][Question Description = Q41_GP_Set12_51]

1.1

[Option ID = 11473]
Pl

[Option ID = 11474]
3.3

[Option ID = 11475]
4. 4

[Option ID = 11476]
Correct Answer ;-
a 1

[Option ID = 11473]

37) Gaven below are two statements :

Statement I: TUGC has been established by an act of Indian parliament to regulate the
guality of higher education.

Statement IT: The executive council of a Central University is empowered to decide the
minimum qualification for the recruatment of the faculty.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1 Both Statement I and Statement I are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
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2
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[Question ID = 2870][Question Description = Q42_GP_Set12_51]
1. 1

[Option ID = 11477]
P

[Option ID = 11478]
3.3

[Option ID = 11479]
4. 4

[Option ID = 11480]
Correct Answer :-
s 1

[Option ID = 11477]

38
} Giaven below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A): The Central Government of our country is tryving to increase access to
higher education.
Reason (R) : The public-funded universities and colleges can accommodate only a

Ihmited number of students.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 158 NOT the correct explanation of (A)
(3) (A) is correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

= g1 oM fay U F  ww AT (Assertion A) % T H fdfE@ ® 91 g0 3% w0 (Reason R) F

gqﬁ
AT (A) AR 37 Fi g TR S99 (980 9% 959 9 9ig T B = R G 2
FROT (R) g FlRE @ ot et 3 i sae @fe g § 8 it =

T ooy
CORIE T
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[Question ID = 2871][Question Description = Q43_GP_Set12_51]
1. 1

[Option ID = 11481]
%9

[Option ID = 11482]
3.3

[Option ID = 11483]
4. 4

[Option ID = 11484]
Correct Answer -
a 1

[Option ID = 11481]

Given below are two statements :

Statement I: As per the preamable to the constitution, India is a secular country.

Statement Il : Setting up educational institutions by religious minority communities 1s

against the constitution.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II 1s correct
= g g g e E
o (I) :  Hiea™ 1 e % SR, R T gHHNE 9 B |

we (D) : AT ST TUaM g Sas TRyl i T afaam-faeg 2 |

SUHFd FYA T IS U, A &Y e fwed § # w9 ST S H 99 AT
(1) w IR IS w2 |
(2) FFA IR [ 3H 7o 2 |

(3) w1 udt 2, ifor ®v 11 71ewd 2 |
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(A)-1D, (B)-ID, (C)-(, (D)-(IV)
(&)-D), B)-1AD, (O)-IV). (D)-(IID
(4)-(ID), (B)-(1V), (C)-0D), D)-(D
A)-Av), ®)-@), (C)-alD). (D)-AD

[Question ID = 287 3][Question Description = Q45_GP_Set12_51]

1. 1
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(4) DU I7d 2, e oA ITwdl 2
[Question ID = 2872][Question Description = Q44_GP_Set12_51]
1. 1
[Option ID = 11485]
2. 2
[Option ID = 11486]
3.3
[Option ID = 11487)
4. 4
[Option 1D = 11488]
Carrect Answer ;-
» 1
[Option ID = 11485]
Match List I with List II
Tist I List II
Ay UGC () Medicine
(B) AICTE (II) Teacher Education
(C)y NCTE (III) General Education
(D) MCI (IV) Technical Education
Choose the correct answer from the options given below :
(1) (A)-(1D). (B)-(IID). (C)-(I), (D)-(IV)
2y  A-D, B)-ID, (C)-AV), (D)-IIT)
(3 (A-ID). B-IV), (O)-dD, M)-O
(4) (A)-(IV), (B)-(D). (O)-(1D), (D)-AD
gei-1 % =9 gAh-I1 1 T i
a1 T II
(A) 7t @M fabeam
® vuwomgH iz AD e foan
(C) wadidis (IID) @ faa
D) @ g (V) aeireht e
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[Option 1D = 11489]

2. 2

[Option ID = 11490]

3. 3

[Option ID = 11491]

4. 4

[Option ID = 11492]

Correct Answer ;-

LI

[Option ID = 11489]

Topic:- 05th_SET12 Shift 2_C
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1)

Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged., when teachers, people in
authority or even the general public come in contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image 1s the tendency to confuse failure 1n a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image shide starts, the natural
tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember evervthing they hear and evervbody they meet.
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great pilece of literature. Second, the person who cannot remember 1s infinitely better off
than the one who cant forget. These two thoughts are temporarily comforting, but do not
hang yvour hat on them. Actually there 1s no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether you train it or leave it untrained is
up to vou. One more cause of a selfimage is an unrealistic and unfalr comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

Poor self — images are the products of :

(1) Group belongingness (2) Contracted inferiority feelings
(3) Social power equations (4) Attitudes of teachers
Frferfiaa sTaawor =it ufeu oTR ST Seia Y9 &1 398 FIsT

Trpgan TR % oIfma rn-Tara w1 Fmir @ frarw g 2 9w e, ool @m @ o
ST % YlauEiia GSel % 61 SH dith ¥ G U S71d £ S S9N giaT *hl ureen ST @l 8 | 4E
T Few O R foera TE ¢ T e wieeg aron S i ot & I 21 anfeem even-ferm
1 HU BRI Teh YA ¥ 3HEA &4 B UH Sfied § @bl g4 % @Y W3 27 i vagha 31w s
31 foremera o v Trom o SyEiel 2T 2 AT 97 39 WAl 99 OhdT 2, U 2Theil STl W Wia § TP
B % W% UEEEA S el Sl 2 | 98 e B0 o Arei-fiar o1 et % g e aR gesierd gl g U
AR & AT STcA-Tara 1 T (TTES) WRE il 3 O W ia Wi s g o A s
2| 9Ed T N UHT Bl ] & 99 o 3§ = ol o 9 gad 8 suer T5ad 9 fued 2, @6 T e § sem
#3112 T o omfifim w5 wwo Y ot & S 21 onft & o 3 il I few E, < sga
e GFA 3 A B | Ugen O Uy Wid ok wer gig i A sa & wehd At R e A oo
I7g, TeEHM e IR W A 7, U oTe8 Wiied 3T Weha HdT 2| T UF SAfEd W 4G TH W
Fhdl § 3Fd €9 o I9H Sgal 2 S go 61 godl | 3 g fem afies =0 @ g 3 et £ uieg o @

Foe

IO W TP WG AR | [ere sredl wia gl e am A i e w6 2 20w a viniém o
srafufeaa gidt 21 o s wffae = @1 smffee @ 2 5o e s el e 7 ) ster-farw
U STR HRV I 1 ATRata® Ud S o 2 | B9 R % Theiaiyul TNl i Fg-Her S
2 3R Iy dberar bt A feErd 2 1 SEAE B A0l O B d-ad1 6 8 |
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[Question ID = 2874][Question Description = Q46_GP_Set12_51]

T,

1

[Option ID = 11493]

2

[Option ID = 11494]

L

[Option ID = 11495]

4

[Option ID = 11496]

Correct Answer -

LI

[Option ID = 11493]

Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged. when teachers, people in
authority or even the general public come in contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image 1s the tendency to confuse failure in a project with a
failure in Life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image shide starts, the natural
tendency i1s to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember evervthing they hear and evervbody they meet.
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great prece of literature. Second, the person who cannot remember 1s infinitely better off
than the one who cant forget. These two thoughts are temporarily comforting, but do not
hang yvour hat on them. Actually there 1s no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether you train it or leave it untrained is
up to vou. One more cause of a self-image i1s an unrealistic and unfalr ecomparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

What is the normal reaction of the people to failures?

(1) Ignore the failures

(2) Sympathising with the shide

(3) Projecting a single failure as failure in hfe

(4) Soclal ostracisation against failures

frerfatiga 1o it ufeu oI Saw JaTiE gy =1 33 $im

Ppgan TR % efema orn-Tara w1 Fmi @ e g 2 oww s, ooad @M ow o
SH-GHT % GlaEEiEa GSel % 61 SH qith U G U o71d 2 S SN gial ol Wieen S0 whadl 8 | 4F
FE Few O R foewa T8 2 T e wfewg aron S i ot o I 21 anfeem eren-ferm
1 GHT BRI Teh UHA ¥ 3HEA &4 Bl UH SAieH § 35Ebel g4 % @ Wg 21 i vagh 31 o s
31 formera o v Trom o SyEiSl giAT 2 AT 9% 39 Al 9 kAT 2, U9 oTheil STl W Wiad § STHE
B % WY UEEEA S el Sl 2 | U8 e B0 o Hidi-faar o1 faest % g e aR gesierd il g U
AR W& AT STcA-Tawa i T (TATEE) WRE it 3 O Wb ias St s g o 8 e
21 WEA T ST UAT B w4 B A6 A o0 O9 o T3 A maa 2 oavrer e 3 oA 2 &t e es 8 o
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= 31 7z e o omfvim wfa % wro A otR S wran 21 el % e 1 il o e E, S uga
SR YA 44 9 £ | Ugen UF ey St mem gfg B ek sa £ weha welt R e A o
J74, TeEHM e IR W HiNg 7, U oTe8 Wiieed MR Wha HAT 21 T UF SAfad W A5G THl W
Ahdl B g 9 U IEE Sgal ® o 9ol 761 9l | 3 31 fGem i w1 @ gEA 3 e € ot v 3w
IO W TP WGBS | [T ITedt Ty W g i am A e e @ A 2 | T8 A gfem o
FAfafea st 21 one =8 winfim *= W swfife @ S s 9 g AR war 7| oren-fer
TH SR HR ST 1 STt Ud S 9o 2 | F9 gEd % Fhoiargul STl i Se- e sard
2 3 1l geberar =p1 = e 1 Swe B AT O B S -2A1 T8 ¢

A 61 ITAFAA = Th T WitR T 2

(1)  SEE W STE T8 S

(2) W (FTEE) F W we

(8) T 3rehell SATEHSAAT Bl HloH ) FTERAAT % T H g BT
(4)  STEEAdT 5 faeg T SEwen

[Question ID = 2875][Question Description = Q47_GP_Set12_51]
1. 1

[Option ID = 11497]
Z. 2

[Option ID = 11498]
3.3

[Option ID = 11499]
4, 4

[Option ID = 11500]

Carrect Answer :-

s

[Option ID = 11497]

< Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged., when teachers, people in
authority or even the general public come in contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image 1s the tendency to confuse failure 1n a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image shide starts, the natural
tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember evervthing they hear and evervbody they meet.
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great pilece of literature. Second, the person who cannot remember 1s infinitely better off
than the one who can’t forget. These two thoughts are temporarily comforting, but do not
hang your hat on them. Actually there 1s no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether you train it or leave it untrained is
up to vou. One more cause of a selfimage is an unrealistic and unfalr comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

When people start castigating themselves. they :
(1) Self — feed the inferiority feehng (2) Try to amehorate the suffering
(3) Lose the power of reasoning (4) Make efforts to improve their images
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pead wER % Ifema emel-frs w1 Fmiv w frarw g 2 9w s, gowd @ @ amre
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FA Few O R foera T2 2 T e wiewg aron S i o o I 21 anfeem eten-ferm
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AR & AT STcA-Tara i T (TTEE) WRE il 3 9 W ias S s g o 8 e
2| 9Ed U SN ORI Al ] 2 99 o 36 A9 ol o |9 gad 8 sgen Ted d fied 2, @6 T we 8 s
#3172 T o omififim wyfa % wro Y otR & S 21 anft & o @ il I few E, S sga
AT G ¢ i B | UEell U quenigigyl Wfd wh wEe gig i it sar & woba wedt 2 e i o
J7q, TeaH fEH IR e HiNg 7, U oT58 Wiieed MR Wha HAT 21 T UF SAfad W g TH W
Ahdl 3 3d 9 U IEE Sgal ® 9 9ol 761 9l | 3 g1 fem i w1 ¥ g 3 a9 § gt v 3w
IO W TP WG AR | [ere sredl wia w gh e am A wE e w2 20w o viniém o
sty 2t 31 o 59 wfifee = sffde @A S s g s W At e 2 ) sten-fers
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[Question ID = 2876][Question Description = Q48_GP_5Set12_51]
1. 1

[Option ID = 11501]
7.2

[Option ID = 11502]
3.3

[Option 1D = 11503]
4. 4

[Option ID = 11504]
Correct Answer :-
* 1

[Option ID = 11501]

Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged., when teachers, people in
authority or even the general public come in contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image 1s the tendency to confuse failure in a project with a
failure in Llife. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image shide starts, the natural
tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember evervthing they hear and evervbody they meet.
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great plece of literature. Second, the person who cannot remember 1s infinitely better off
than the one who cant forget. These two thoughts are temporarily comforting, but do not
hang yvour hat on them. Actually there 1s no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether you train it or leave it untrained is
up to vou. One more cause of a self-image 1s an unrealistic and unfalr ecomparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.
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A ‘great mind’ indicates :

(1) Perfect memory
(2) Success in life
(3) The people he/she meets

(4) Trained or untrained mind
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Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged., when teachers, people in
authority or even the general public come in contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.

Another cause of a noor self-imare 12 the tendencv to confuse failure In a nrolect with a
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failure in Life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image shde starts, the natural
tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember evervthing they hear and evervbody they meet.
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great plece of literature. Second, the person who cannot remember 1s infinitely better off
than the one who cant forget. These two thoughts are temporarily comforting, but do not
hang your hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether you train it or leave it untrained is
up to vou. One more cause of a self-image i1s an unrealistic and unfalr ecomparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

The passage seeks to focus on the importance of :

(1) Good memory

(2)  Untrained mind

(3) Factors determining image self
(4) Experience against abihity
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